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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180495
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861807319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of

the given pair.
Choose the correct alternative.

Curios : Museum : : Gun: ?
Options:

1. = Man

? @ Armory

3 % Amm

4 = Granary

Question Number : 1 Question Id : 5861807319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



2 o oTERITeT

e,

Question Number : 2 Question Id : 5861807320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
There is a certain relationship between two given numbers on one side of : : and one number is given on another side of

: ¢ while another number is to be found from the given alternatives, having the same relation with the number as the

number of the given pair.
Choose the correct alternative.

22528 ::52:7
Options:

1. v 2808

D % 2575
3. % 2754
A % 5212

Question Number : 2 Question Id : 5861807320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. « 2808
2 % 2575
3 x 2754
4 = 5212

?

Question Number : 3 Question Id : 5861807321 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words

and hence belongs to the same group.

Camel : Cat : Goat

Options:
1. = Owl

? % Hen

3. % Snake

4. » Donkey

Question Number : 3 Question Id : 5861807321 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
o H i WER FEOT e # v wag foar am g Rw v Reedt # § 379 qeg #oIAT HY, A
WA H T 71T o=@l ¥ FHAT WA g, AR IRuETEET 38 'ag ¥ @6t @

¢ : foedy : s
Options:

1. » 3%
5, T
3 % W9
4. v T

Question Number : 4 Question Id : 5861807322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Find the related number to complete the anology.

182300 5627
Options:
1. = 64

2. v 66

3 % 68

4 = 62

Question Number : 4 Question Id : 5861807322 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



=1 @I (analogy) #F U FA & AT 3mEEE FEOT AT A

18 280 =36 7

Options:

1. % 64
2. v 66
3 % 68
A« 62

Question Number : 5 Question Id : 5861807323 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Caw, Roar and Neigh?
Options:
1. = Frog

2 % Monkey

3. % Lion

4.« Mew

Question Number : 5 Question Id : 5861807323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Taef@a 7 ¥ 9 @1 #9 - ¥4, e IR fRaftas ¥ gAaar @ar 82

Options:




2 % §El
3. % ;W
4. v F13

Question Number : 6 Question Id : 5861807324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair

in which the words are differently related.
Options:
1. & Cruel:Kind

? % Fresh: Stale

3.« Blend : Mix

4. » Affirm : Deny

Question Number : 6 Question Id : 5861807324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 7 Question Id : 5861807325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four pairs of numbers are given out of which the numbers in three pairs bear a certain common relationship. Choose the

pair in which the numbers are differently related.
Options:
1 x 175=371

7 % 283-382

A % 247-742

Question Number : 7 Question Id : 5861807325 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A IR T weg v av g, Owed ¥ di9 vew weg aow & R a1 S ol ¥ wefig g1 s
H HEY AT WA I HEAT GHE FH FweT T4 |
Options:

1. = 175 - 571

2w 283 - 382



3. v 507 - 705

4. » 247 - 742

Question Number : 8 Question Id : 5861807326 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

My school is in the East of my house, Temple is North of my house and Market is South of my house. If all are at equal
distance from my house, in which direction the School is with respect to the Market?

Options:
1. = East

? s North

3. « North - East

/. % North - West

Question Number : 8 Question Id : 5861807326 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

133‘:'::}
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Question Number : 9 Question Id : 5861807327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin, Sahil. Sandhya, Sani. Sanju, Saurabh, Shweta and Sunil are sitting around a round table in the same order for
lunch at equal distance. Their positions are Anti - clockwise. If Sandhya sits facing North. then in which direction Sanju
is facing?

Options:
1. % East

7 « West

3 % South - East

A = South - West

Question Number : 9 Question Id : 5861807327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 5861807328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sheet of paper in fig X is folded to form a cube. Which will come opposite to face showing “+'?

Options:

1. % =

P ow %

Question Number : 10 Question Id : 5861807328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 11 Question Id : 5861807329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Children A, B. C.D. E, F and G are standing in a line. F is to the left of A and right of B. D is between G and B. E is

standing left of C and G is right of C. Who is standing at the fourth left of A?
Options:
1. = C

2. ¢ G

Question Number : 11 Question Id : 5861807329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AB CDEFiIRGTwFaR 7@ I F AF T 3N 3T BFaE sivwsr 1 D, G 3k
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Options:

1. = C



Question Number : 12 Question Id : 5861807330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a row of children, Harish is eleventh from the left and Mangesh is seventeenth from the right. When they exchange
their places, Harish will be thirteenth from the left. Which of the following will be the new position of Mangesh from
the right?

Options:

1. ®= Eleventh

2 w Twenty - first

3. « Nineteenth

4. » Twenty - ninth

Question Number : 12 Question Id : 5861807330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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Options:
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Question Number : 13 Question Id : 5861807331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L Doby is sister of John and John is brother of Shreya.
II. Shreya is daughter Jones and sister of Jani.
III.  John is son of Jones and Jani.

If the first two statements are true, the third statement is:
Options:
1. = Tre

7.« False

3 x May be true

4. % TUncertain

Question Number : 13 Question Id : 5861807331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. = WI
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Question Number : 14 Question Id : 5861807332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Anas. Bipin, Chandan. Dev, Easa and Fatima are friends. No two friends are of the same age, but all have birthdays on

the same date. The voungest is 23 years old and the oldest is 28 years. Easa is somewhere between Chandan and Anas.
Dev is older than Bipin. Fatima is older than Chandan. Anas is oldest and Chandan is youngest among all. If Fatima is

younger than Bipin, Bipin is younger than Easa. Dev is older than Easa. Then

Which of the following is false?
Options:
1. % Bipinis 25 years old

2 « Easais 26 years old

73 x Chandan is 23 years old



4.  Fatimais 27 years old

Question Number : 14 Question Id : 5861807332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 15 Question Id : 5861807333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the water image of ?

/\
N & Y
AY /N

\l/

Options:



Question Number : 15 Question Id : 5861807333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Question Number : 16 Question Id : 5861807334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following are the criteria to recruit a Teacher in a college:
[.  The Applicant must be science post graduate with 75% marks.
II. Have his / her age in between 25 to 32 years as on 10-05-2019.
III. Have a PG degree / 3 years diploma or must have completed B.Ed. with more than 65% marks.
IV. Have minimum 3 years’ experience in Teaching.
V.  Beready to join 2 year probation.
If a candidate satisfies all the criteria except

at IIT above, but is an Arts and Mathematics graduate with minimum 72% marks and has an experience of more
than 5 years and more her / his case is to be referred to the Vice President.

at I'V above, but master degree’s with minimum 60% marks, her / his is to be referred to the President

A detail of applicant is given below in the questions. On the basis of the following decision which is based on the data
given above, mark the answer.

Shalendra is a B.Sc. Graduate with 80% marks and has completed PG in Mathematics with 59%0 marks. He
completed 28 years of age in 2019 and has 4 years’ experience as a Mathematics Faculty. He is ready to join

probation period of 2 year.
Options:

1. = Ifcaseis to be referred to President.

7 % If case is to be referred to Vice President.

3 % If candidate is to be selected.

4] If candidate is not to be selected.

Question Number : 16 Question Id : 5861807334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 5861807335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Following are qualifications for a technical assistant post in company Alpha.

The candidate must:-
L Be an Engineering graduate with atleast 70% marks.
1. Not less than 23 years and not more than 30 years of age on 1.7.2019.
III.  Have passed the selection test with atleast 60% marks.

IV.  Willing to join immediate for training and ready to pay a deposit of Rs. 20000, to be refunded on
completion of training.

However, if a candidate fulfils the above mentioned criteria except:

At (I) above, but he has appeared for the last semester examination and obtained an aggregate of 65% marks
in previous semester, his / her case may be referred to the V.P. of the company.

At (II) his / her age is less than 23 years but he secured 80% marks in graduation, the case may be referred to
the General Manager of the company.

The detail of the candidate is given as regards his / her candidature. You have to read the information provided and
decide his / her status based on the conditions given above.

Rajan is an IT engineer passed his graduation with 8§5% marks. After getting the engineering degree he has done

MCA. He has cleared the selection test with 70%% marks.

He is ready to deposit above said amount and want to join immediately. His date of birth is 2.10.1998.

Options:

1. = Ifthe candidate is to be selected.

? s If the candidate is not selected.

3w Ifthe case is referred to the V. P.

4.  Ifthe case is referred to the General Manager.

Question Number : 17 Question Id : 5861807335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 5861807336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the

statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: Without active cooperation between officers and office staffs of the company, it cannot remain profitable to
run business from this office.

Decisions:
I: There should be dialogue on cooperation and activeness of staff.

II: The office staff should be motivated to cooperate officers.
Options:
1. % OnlyI follows

? « BothI and II follow

3 % Neither I nor II follow

/|« OnlyII follows

Question Number : 18 Question Id : 5861807336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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5 v sy | 3R 1l E= 3egERor F gl

3 x 7 o faswy | 3R & & 1l 3gERor FEa gl

4 x Fael fAswy || 3gEIoT Far gl

Question Number : 19 Question Id : 5861807337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pointing towards a man, Vishakha said, “He is the only son of my husband’s father-in-law™. How is the man related to
Vishakha?
Options:

1. = Brother-in-law
? % Husband
3.« Brother

4. % Uncle

Question Number : 19 Question Id : 5861807337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 5861807338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the

statement to be true. and then decide which of the two suggested decisions logically follows for pursuing.
Statement: All employees of the office have taken holidays without prior information.

Decisions:

I: Show cause notice should be served to all with warning of termination.

II: All the employees should be immediately terminated from job.
Options:
1. « OnlyIfollows

? s BothIand II follow

3. = Either I or II follow

4. % OnlyII follows

Question Number : 20 Question Id : 5861807338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 5861807339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a family, there are six members. Anil. Bindu, Champak. Deenu, Elfee and Fiona. Anil and Bindu are a couple; Anil is
the male member. Deenu is the only son of Champak, who is the brother of Anil. Elfee is the sister of Deenu. Bindu is
the daughter - in - law of Fiona, whose husband is no more.

How is Deenu related to Anil?

Options:
1. & Brother

2 » Nephew

3. % Uncle

/. = Son- in - law

Question Number : 21 Question Id : 5861807339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 5861807340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Given is a statement followed by two conclusions. Read the statement and the conclusions carefully and decide which

of the conclusions logically follow(s) from the statement.

Statement:

Hockey as a game has strong connection with rural lifestyle.

Conclusions:
i Hockey is popular in rural society.
II. All hockey enthusiasts are from rural areas.
Options:

1. « Only conclusion I follows.

2 % Only conclusion II follows.

3. % Both the conclusions follow.

/] % Either conclusion I or conclusion II follows.

Question Number : 22 Question Id : 5861807340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 5861807341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who are ‘b’ in the given image?

Females

)
S

Options:
1. = A group of female boxers who are swimmers as well as poets

2 A group of female poets who are neither swimmers nor boxers
3 % A group of female swimmers who are not boxers

4. % A group of female poets who are boxers as well

Question Number : 23 Question Id : 5861807341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 5861807342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain common relationship. Choose the number which
is different from others.
Options:

1. = 187

7 % 221



3. % 323

A« 437

Question Number : 24 Question Id : 5861807342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR e & 79 ¥, e ¥ O el & 99 v RfRee aF e g1 3% SE & g9 A
3T T B T

Options:
1. % 187
2 = 221
3. = 323
4. v 437

Question Number : 25 Question Id : 5861807343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four figures are given out of which the three figures bear a certain common relationship. Choose the figures which is

different from others.

¥
N

Options:




5 LR

1. LN

Question Number : 25 Question Id : 5861807343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wed # TR HFaA & % § wd ¥ 9 apfaw F &9 v Bffte mwew gev ) 3w s @
I H S 3T § e g

Options:

o

5 - LR

.. LR

Question Number : 26 Question Id : 5861807344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes / items:

NITROGEN, KRYPTON, GASES
Options:



1. =

2. %

3.

4,

Question Number : 26 Question Id : 5861807344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & 7 Fla @1 37 3@ =@ / FEGAHT F T v de F w9 307 FAAted Har 8
A, feer, 9

Options:



Question Number : 27 Question Id : 5861807345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Venn diagram that best represents the given set of classes:

FOOD, CEREAL GRAINS, WHEAT

Options:



1. v

OO

3. %

OR@

4, =

Question Number : 27 Question Id : 5861807345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ¥ @ FF T 37 3w, Ru v ot & A @ e IToT et a<ar v

Options:



Question Number : 28 Question Id : 5861807346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
If ‘A — B’ means A is mother of B, ‘A S B’, A is sister of B, ‘A (@ B” means A is father of B and ‘A=B" means A is son

of B.

IfP=Q -SSR, then how P is related to R?
Options:
1. » Nephew



? % Son
3.« Brother
/. % Niece

Question Number : 28 Question Id : 5861807346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I A-BFRFITABHF AL ASBATINABHI TGFIg A@B FTFxTA BT g
I'A=B & HTA B F I

IEP=Q-SSRE &P, RA FE R & wafg &7

Options:

1. = &=

2 % &

Question Number : 29 Question Id : 5861807347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Shahini and Mohani are sisters. Dev and Anu are brothers. Dinesh is husband of Manju and son of Jyoti. Dev is son of

Jyoti and Jvoti is mother of Shahini. How Mohini’s father is related to Manju?

Options:
1. « Son

? s Brother



3. « Father—in-law

4. % Brother—in—law

Question Number : 29 Question Id : 5861807347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oMt 3R AEe aEe &1 a AR o onE E1 Reer, Ao F 9y AR @y # der §) &E, SOy @ A
g 3 ==ifa, enfeelr #r A1 &) Afgelr & Bar & 79§ F w v &2

Options:

Question Number : 30 Question Id : 5861807348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If *P * Q" means P is father of Q, ‘P % Q’, P is daughter of Q, ‘P # Q" means P is mother of Q and ‘P = Q" means Q is
son of P.

IfS *N=R * M, then how S is related to M?
Options:

1. & Brother

2  Grand grand son

3 Grand grand Father



4. % Grand grand Mother

Question Number : 30 Question Id : 5861807348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE P+ QFATP, QFTTTE PUHQ FHTP, QF T E, PHQ FHT P, Q Fr AGT 7
TP = Q & I Q P FHITE

IES+N=R+«MEg arsS, M¥ BFg vox & gafeT &7

Options:

Question Number : 31 Question Id : 5861807349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Number of medals won by four nations in six Olvmpic games are as given in the following table.

VEAR COUNTRY
USA China India Fussia

1996 120 63 35 65
2000 140 60 7 36
2004 42 30 36 42
2008 132 38 108 41
2012 o0 74 76 45
2016 64 46 82 69

Which among the given nations won the second highest number of medals over all the Olympic games taken together?

Options:
1. = USA



? % China

3 « India

/. % Russia

Question Number : 31 Question Id : 5861807349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A= aiforrT # ©F 3oe T § 97 37 GarT 9 71T 9ol S T&AT TS 7% g

gor

et

JuaT = R )
1996 120 65 35 65
2000 140 60 70 36
2004 42 50 56 42
2008 132 38 108 41
2012 90 74 76 45
2016 64 46 82 69

i1 eI Wel #F Femew fr v i # ¥ rwe gfadg aaifids ves g

Options:



Question Number : 32 Question Id : 5861807350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code PINK is written as 232, How will be GREEN written in that code?
Options:
1. = 200

7 % 150

3. % 245

4.« 430

Question Number : 32 Question Id : 5861807350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frdT 15 # PINK T 232 @ 31ar &, 39 #15 & GREEN & @ forgr mwen?

Options:

1 % 200
2 % 150
3 % 245
4. «» 430

Question Number : 33 Question Id : 5861807351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following pairs of signs, when their positions are interchanged. will correctly solve the given mathematical

equation?

25+5-=210+15x5=116

Options:
1. % -+and =
? % +and+

3. « +andx

A = +and-

Question Number : 33 Question Id : 5861807351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 @ a9 ¥ B, 396 T & e 9o v 3= 9, fr «1v o1fordT gafe=or & r
TEr T T g FLE7

25 « 5 -210 + 16 x B = 116

Options:

1. = dRx

2. % *3Re

Question Number : 34 Question Id : 5861807352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given

mathematical equation?

124 x16+2-7=43
Options:
1. = 7 and 12, + and —

? % 7and16,—and X

3 x 4and 7, xand+

4  2and7,+and -

Question Number : 34 Question Id : 5861807352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T 7 @ #i & g=r 7 fea, 396 Tufaer & wew 929 for o= o3, fev o st
HHFIUT F Fel T § g Fi7?

12 +4 x 16 + 2 -7 =43
Options:

1. » 7 HR 12, + 3 -

D« 73R 16, - 3R x

3 0« 437, x 3R+

4_\._;..: 23%?7,"'3%?'

Question Number : 35 Question Id : 5861807353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If you write down all the numbers from 1 to 50. then how many times do you write 5?



Options:

1. =

Lh

2. 6

4 = 14

Question Number : 35 Question Id : 5861807353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It T 1 & 50 g @ g gEmmat # frEa 2, 3T 5 i hger a) erEeEr?

Options:

1. = 5

2. v B

Question Number : 36 Question Id : 5861807354 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Four words have been given out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options:

1. & Cobbler



? % Chef
3 % Poet

4.  Crop

Question Number : 36 Question Id : 5861807354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T oreg BT v ¥, Bed ¥ A9 o= FEY o7 Y 9R ® 39W H §AST @ &, S =T
eg =T oMeer W HoT g1 BH g F1 I8F +{|
Options:

1. = &=

7w QAGAm

Question Number : 37 Question Id : 5861807355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
In problem, out of four figures marked 1, 2, 3 and 4, three are similar in a certain manner. However one figure is not like

the other three. Choose the figure which is different from the rest.

Answer Fig.

AN

Options:



Question Number : 37 Question Id : 5861807355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A U a0 wead A, I IFHfaAr 1, 2, 3 HR 4 & S B, AT S @ A A oar B e @
HATAAT TEAT &1 ETAH Th HMPicT 3 il & 37607 g1 3o § 30T Al @l A H

3eal A,

NSNS+

| 2 3 4
Options:
1. % 1
2. v 2

Question Number : 38 Question Id : 5861807356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will correctly replace the question mark (?) in the series.

26,51, 100,181, 9
Options:
1. = 209

7 % 249

3.« 302

A = 386

Question Number : 38 Question Id : 5861807356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 81 TR AT ¥ 3@ RFeed & 99 FY A 9o Teg (?) Fr Feg W HwET|

26, 51, 100, 181, ?

Options:
1 % 209
2 % 249
3.« 302
4 % 386

Question Number : 39 Question Id : 5861807357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will correctly replace the question mark (?) in the series.

DU b G B b
Options:
1. = 296

7 % 340

4 = 440

Question Number : 39 Question Id : 5861807357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 1 TR H@eT H 3@ R¥eed & 99U HY S 9o g (?) #F g WA

12, 48, 112, 212, ?

Options:
1 % 296
2 % 340
3. « 356
A % 440

Question Number : 40 Question Id : 5861807358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



One term in the number series is wrong. Find out the wrong term.

54, 60, 180, 188, 558, 564.
Options:
1. % 180

7w 60

3.« 188

t.h.
®
Lh
LA
o0

Question Number : 40 Question Id : 5861807358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&1 7T TWEAT T H Tk g Ted gl T I8 AT HH|

54, 60, 180, 188, 558, 564

Options:
1 % 180
7 = 60
3. « 188
A % 558

General Awarenessi

Group Number : 3



Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

586180354
0

0
No
No
0
20
No
Yes
0

0

General Awarenessi

Section Id : 586180358

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180497
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5861807359 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

In which year was the National Green Tribunal established?

Options:

1.~ 2010
2. % 2008
3. = 2005
4. = 2000

Question Number : 41 Question Id : 5861807359 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

TeEr e 31fReRIoT (ereter 3fter feeyaren) i TuTUeT TR a¥

827

O
Options:

1. v 2010



2. = 2008
3. = 2005
4. = 2000

Question Number : 42 Question Id : 5861807360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Aviral Dhara’ mission is related to;:

Options:

1. = Production of cow milk
2. = Production of oil

3. v Flowing of rivers

4. = Distribution of petrol

Question Number : 42 Question Id : 5861807360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"7yl gRT a8 garad Aee gl

Options:

1. % 3T & g T 3cUCd

2. = dol T 3cUTE
3. v AT T vaT8
4. = Ul T faawor

Question Number : 43 Question Id : 5861807361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the headquarters of International Solar Alliance
located?

Options:

1. * Nepal
2. v India
3. » Pakistan



4, = Singapore

Question Number : 43 Question Id : 5861807361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HATSERT | TS FT AEATORT shgl T g7

Options:

1. % oA9Tel
2. v IRd

3. = TUTTehedla
4. = THamqL

Question Number : 44 Question Id : 5861807362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ramsar Convention is also known as:

Options:

1. = Convention on climate change
2. = Convention on peace keeping
3. » Convention on forced labour
4. v Convention on wetlands

Question Number : 44 Question Id : 5861807362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JTHTT TFEH F aTH T oY JaT ST &

Options:

1.waﬂa'grqmé?rwm?r

2. = 9id FdT¢ W&ol T GFH

3. ® Folld HH T A

4. v STelHIS H{H T HFH

Question Number : 45 Question Id : 5861807363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is the theme of World Migratory Bird Day 2019?

Options:

1. v Protect Birds: Be the Solution to Plastic Pollution

2. = A Healthy Planet for Migratory Birds and People

3. » Stop the illegal killing, taking and trade of Migratory Birds
4. = Energy - Make it Bird - Friendly!

Question Number : 45 Question Id : 5861807363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fore vraredT Wl feaw 2019 #r #Aew fava w2 &7

Options:

1. v TTERIT T HIETOT: TAIECh YGNUT 1 HATLTS el

2. = YT gier 3T sFeaat & Ow v Taey 78

3. = UarEr giEAr & AT RN, 9rere AR SR R Uk
4. % AT - 3 Y& 37efehel ATV

Question Number : 46 Question Id : 5861807364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tijjani Muhammad Bande has been appointed as the
president of the :

Options:

1. v UNGA

2. = ILO

3. = UNESCO
4. = UNICEF

Question Number : 46 Question Id : 5861807364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeTTetr HgFAe & & Tgufe & 7 7 forgerd fohe arw
2

Options:




e s L
% 4

Question Number : 47 Question Id : 5861807365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Companies has the tagline ‘Experience

Certainty, Experience Energy’?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Adidas

2. Infosys

3. Tata Consultancy Services
4. Mecedes - Benz

Question Number : 47 Question Id : 5861807365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foret & & fopd FTe! T TR T (CITeSe) 'THTIIRIH

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. vfss™

2. IHIET

3. TR Hdeedl graad
4. AFGSST doaf

Question Number : 48 Question Id : 5861807366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which country has reported its first case of the rare
MonkeyPox virus in May 20197

Options:

1. = Brazil

2. v Singapore
3. = Portugal
4. = Nigeria

Question Number : 48 Question Id : 5861807366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forel 2o o A 2019 # gole HehTdisRy fATO] (RRE) T 3T
Tgell ATHeT Jid frar?

Options:

1. = STailel
2.%%@
3. = goaTel
4. = sEShTET

Question Number : 49 Question Id : 5861807367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A work on Dramaturgy, Natyashastra was written by :

Options:

1. « Varahamihira

2. = Panini
3. v Bharata
4. = Vishnusharma

Question Number : 49 Question Id : 5861807367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATCTRell T AR ACTemET ganT ferdr a8

Options:




1. = AR
2. = YIoIfel
3. v Hd
4. = faeurerAT

Question Number : 50 Question Id : 5861807368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With reference to the events of Gautama Buddha’s life, which
of the followings i1s NOT matched correctly?

Options:

1. v First Sermon - Amaravatl
2. = Birth - Lumbini

3. *» Enlightenment - Bodh Gaya
4. = Death - Kusinagara

Question Number : 50 Question Id : 5861807368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A §& & Siidel 7 geasit & dast 7, e # § forgehr
THolTeT Tar =T8T &7

Options:
1. v UIH 3989 - JAIEAr
x Sed - ?fljﬁ?rﬁ

2.
3. % FATel shT WIod - ST =T
4.&@-@%1?

Question Number : 51 Question Id : 5861807369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the followings is NOT a book by Mahatma Gandhi?

Options:

1. = My Experiments With Truth



2. v Satyartha Prakash
3. » Hind Swaraj
4. = Path To God

Question Number : 51 Question Id : 5861807369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fard & @ Fid, AGTCAT ey HT gEdF 8T 87

Options:

1. = "I & 91 AY TANET (AT Craaided fau )

. v GcareT eRTer

2
3. = fgg Taus
4. = $RGY FHT AW (Y ¢ A3

Question Number : 52 Question Id : 5861807370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On 8 August, 1942 the AICC met at Bombay and passed the
Resolution and proposed the starting of a massive non -
violent struggle under the leadership of Gandhiji. The name
of the struggle was:

Options:

1. v Quit India

2. = Civil Disobedience
3. » Rowlatt

4. = Non - cooperation

Question Number : 52 Question Id : 5861807370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 3T 1942 I, F795 H UHETNT T S+ 55 3T

-
% aAgcd H Uh IS IEHCHS TEY F Flal T TEAa

g fohaT IT| S0 9UY &7 ATH 2|

Options:




1. v IRT BT

2. = HAaT 3Tl
3. = Jlolc
4. = AT

Question Number : 53 Question Id : 5861807371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Deputy Chairman of the Rajya Sabha is chosen by:

Options:

1. ¥ The Rajya Sabha members
2. » The Rajya Sabha and Lok Sabha Members

3. » The members of Rajya Sabha, Lok Sabha and State
Legislatures

4. = The people directly

Question Number : 53 Question Id : 5861807371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSTTHT FT SUTHTIT, Z@RT AT ST &

Options:

1. v TSIEHAT &)

2. » [ToIaeT 3R alhaarT deeal

3. » TodTHT, dlendeT, 3N U a3t & ageg
4, % G SAAdT @RI

Question Number : 54 Question Id : 5861807372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is considered as the first Law Officer of the Government
of India?

Options:

1. = Solicitor - General



2. = Chief Justice of India
3. v Attorney - General
4. = Law Minister

Question Number : 54 Question Id : 5861807372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FE TR SRR T WA [T JRRT ATAT SATET 87

Options:

1. % HilelTHeT ool

2. » 9N & HET wgrTedrer
3. v 3clal Slalel

4. * Flofel HAT

Question Number : 55 Question Id : 5861807373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Article of Indian Constitution defines a Money bill?

Options:

1. = Article 244
2. v Article 110
3. = Article 233
4. = Article 276

Question Number : 55 Question Id : 5861807373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wéﬁwmaﬁama?&qw Baue s ariensa
FIAT &7

Options:

1. » 3eeae 244
2. %31@1«_&?{110
3. % 3@1@3233




4. = eﬁﬁ—c{ 276

Question Number : 56 Question Id : 5861807374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The distance travelled by an object is to its speed.

Options:

1. = Inversely proportional
2. = not related

3. = equal

4. v directly proportional

Question Number : 56 Question Id : 5861807374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush GE SaRT A kT S T, THRT =ATel K Il &

Options:

1. = STcehHATAYITAl
s | M

2. * FETAT 18T

3. = HHATA

4. v MeAshATTITI]
s N

Question Number : 57 Question Id : 5861807375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is part of the Concurrent List?

Options:

1. v Education
2. » Defence
3. = Fisheries
4. = Ports

Question Number : 57 Question Id : 5861807375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foire # @ Fief, TATGAT FAT FT AT 87




Options:

1. ¢ farer
= T&IT

2.
3. = HASDoIl YTeld
4. = SCLEMGl

Question Number : 58 Question Id : 5861807376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who amongst the followings is known as the chief architect of
Second Five Year Plan in India?

Options:

1. = Jagjivan Ram

2. = Chaudhary Charan Singh

3. = Ram Manohar Lohia

4. v Prasanta Chandra Mahalanobis

Question Number : 58 Question Id : 5861807376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fard & @ 8 9T A Rgdg d=adia At w1 &7

IIAThL AT SATAT &7

Options:

1. » SHETSad ITA

2. » Tedl =ToT fog

3. = UH HAL aifgar

4. v TTed deg HETOOT

Question Number : 59 Question Id : 5861807377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who became World Number One in women’s 10m Air Rifle at
ISSF World Cup in China?

Options:




1. * Anjum Moudgil

2. = LiDu

3. v Apurvi Singh Chandela
4. = Nancy Johnson

Question Number : 59 Question Id : 5861807377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H FBUHUATE [92F 9 H ARSI hr 10m TIT TSHA
7 @eg 7 vud I« fovda urea fohar?

Options:

1. = 37q HigHErer

2.
3. v 39ar g I
4.

Question Number : 60 Question Id : 5861807378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has been named as the Goodwill Ambassador for Street
Child Cricket World Cup?

Options:

1. « M S Dhoni
2. v Mithall Raj
3. = Virat Kohli
4. = Smriti Mandhana

Question Number : 60 Question Id : 5861807378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tolc AMSes Tehehe dog &Y o falv ﬂs'raﬁ TFOEY & T A

foRe TR ToRar I=am?

Options:




1. » UTH TF oiar
2. v TAdTe TaT
3. * T SIgell
4

. % T AT
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Question Number : 61 Question Id : 5861807379 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Who won gold at the Cologne Boxing World Cup 20197

Options:

1. v Meena Kumari Maisnam



2. = Pinki Rani
3. = Parveen
4. = Mary Kom

Question Number : 61 Question Id : 5861807379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Shlellal dgckghﬂldﬁ Taeg &7 2019 A TRha« TGUT Uceh ATAT?

Options:

1.J3ﬂmwm
2. = TUeRT TTaiT

3. % TIdlel

4, = H *iA

Question Number : 62 Question Id : 5861807380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In Mahabharata, who was the Son of Dronacharya?

Options:

1. = Ghatotkacha

2. = Dhrishtadyumna
3. v Aswathama

4. % Yuyutsu

Question Number : 62 Question Id : 5861807380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mmﬁ,aﬁmaﬁmg?mw

Options:

1. = Talchd

2. & gscgF]
ad

3. ¢ 3TTcUTH]
4, » JIJcH
Mo Bes S



Question Number : 63 Question Id : 5861807381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of folk dances of India, which of the followings
is correctly matched?

Options:

1. * Mahari - Bihar

2. v Yakshagana - Karnataka
3. » Garba - Rajasthan

4. = Thali - Madhya Pradesh

Question Number : 63 Question Id : 5861807381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT H olleh Fcdl & Hal A, Toieed H & fohdepr [Fomer @ 87

Options:

1. = AT - WER”

2. v &AM - hellceh
3. * ILET - {TSIEUTed

4. = AT - AT el

Question Number : 64 Question Id : 5861807382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous Sikh shrine Hemkund Sahib is located in :

Options:

1. » Himachal Pradesh
2. » Maharashtra

3. v Uttarakhand

4. = Punjab

Question Number : 64 Question Id : 5861807382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE FE drdege gASs Arles H Tua gl

Options:



« TEATIST Waer
jrdil%&is

ol
<

« TolTe

Question Number : 65 Question Id : 5861807383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the followings is NOT a Cold Desert?

Options:

1. = Gobi

2. » Antarctica
3. = Great Basin
4. v Kalahari

Question Number : 65 Question Id : 5861807383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeT # O i, ST AFETS 6l &7

Options:

1. = anar

2. = 3cTRicHT
3. « I oA
4. v FTATERT

Question Number : 66 Question Id : 5861807384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Baku is the capital of :

Options:

1. v Azerbaijan
2. « Barbhados
3. = Bolivia




4, « Chile

Question Number : 66 Question Id : 5861807384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST, ST TST4Telr &

Options:

1. v 3TGETS ST

2. % FETSN
3. % SrellTar
4. » el

Question Number : 67 Question Id : 5861807385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the State of Forest Report 2017, which Indian State has
the largest forest cover in terms of area?

Options:

1. » Andhra Pradesh

2. » Arunachal Pradesh
3. v Madhya Pradesh

4. » Maharashtra

Question Number : 67 Question Id : 5861807385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ge et RO 2017 & 3HIER, &ahel & desl A fhg
TG T T T ITTHIET airdes 57

Options:

1. = 3T 92T
2. % 3THUTTel Ucel
3. v FET Yaer

4. = HENISE




Question Number : 68 Question Id : 5861807386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the followings is a Miniratna Public Sector
Enterprise?

Options:

1. = Indian Oil Corporation Limited
2. » Steel Authority of India Limited
3. v Alrport Authority of India

4. = Hindustan Aeronautics Limited

Question Number : 68 Question Id : 5861807386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faed # & Fid T [AdRced TAheiae &7 3Uhd o7

Options:

1. = 3T3TeT 3Tl Frunere fiffcs
2. = Tl JAUTRET 3% sfear ferfaes
3. v WIUIC 3ARCT 3H ST

4. = Tggrde waaresa fefaes

Question Number : 69 Question Id : 5861807387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Food Security in India, what does MSP stand
for?

Options:

1. ¥ Minimum Support Price

2. = Minimum Standard Price
3. » Maximum Support Price
4. = Maximum Sustenance Price

Question Number : 69 Question Id : 5861807387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T H Ted TET & Heel A, MSP (VATHTT) T F7 379 §7

Options:

1. v Minimum Support Price (Afe@a ol wsa)
2. = Minimum Standard Price (ATeiHA Ts8 U=q)
3. = Maximum Support Price (HfdFgFaa Fuic usd)
4,

x Maximum Sustenance Price (HFaaH g&dag usd)

Question Number : 70 Question Id : 5861807388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who of the followings is employed in Informal Sector?

Options:

1. = Doctor of Government Hospital
2. v Driver of a Teacher

3. » Bank Manager

4. = An IAS officer

Question Number : 70 Question Id : 5861807388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fower & & hieT, sAlTaTien & A forgerd &7

Options:

1. % LhRNT IETATel T "Tehcdeh

2. v TeTR T dTeleh (STSAT)
3. * S USYUR
4, % T HUoq TURET

Question Number : 71 Question Id : 5861807389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The process of separating fibres of cotton from the seeds by
combing is known as:

Options:



1. = Threshing
2. v GInning

3. = Churning
4. = Winnowing

Question Number : 71 Question Id : 5861807389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SITFST (combing) SERT Seil & U & 20T I oAk Hlal hl
ufhal, __ Fgerd ¥l

Options:

1. = Qfeer
2. v [@faar
3. = Yfaiar
4. = Taenigar

Question Number : 72 Question Id : 5861807390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which property makes a gas differ from a liquid?

Options:

1. v Compressibility
2. = Volume

3. » Flexibility

4. = Density

Question Number : 72 Question Id : 5861807390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

s @T I[0T, 3 FT g7 A fHea garar g2

Options:

1. v G95TAT (FTaTsferen)

2. = 3dA (ATeGH)




3. % oTeTYel (FellFarsTocr)
4. = Haca (3TN

Question Number : 73 Question Id : 5861807391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The condition in which a person can clearly see distant
objects but nearby objects are blurry is known as:

Options:

1. = Myopia

2. = Preshyopia

3. v Hypermetropia
4, = Astigmatism

Question Number : 73 Question Id : 5861807391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ag g, TouA cOied qqey aeg3l H TI°¢ o UIdr & fhed
folehead! a&qu e fezms & &, FEelldr &l

Options:

Question Number : 74 Question Id : 5861807392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which protozoan parasite causes Malaria?

Options:

1. = Amoebas
2. « Paramecia
3. = EXcavata



4, v Plasmodium

Question Number : 74 Question Id : 5861807392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT R M3 TSiar & FROT &idT 87

Options:

1. = 3AET
2. » UITAIERET
3. » QUFHRIdc]

4. v CATEAISIH

Question Number : 75 Question Id : 5861807393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Electron was discovered by:

Options:

1. v ]J.].Thomson

2. = Johann Ritter

3. » Ernest Rutherford
4. = Benjamin Franklin

Question Number : 75 Question Id : 5861807393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

golerglel T el adRT T a5 o

Options:

1. v oF oF ATAGA
2. = Shgred Rex

3. » 3elec IGIHIS
4, = SATH thepfeld

Question Number : 76 Question Id : 5861807394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Who was the first to give an experimentally useful definition
of an element?

Options:

1. » Richard Altmann

2. v Antoine Laurent Lavoisier
3. = Albert von Kolliker

4. = James Chadwick

Question Number : 76 Question Id : 5861807394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ugel 91 Tohda FEY acg i1 uraiferes Iunely aiemar & o7

Options:

1. = =8 3MecHd
2. v TUadT oic oigiey
3. = 3¢ diel hileelehd

4. » ¥ JsAH

Question Number : 77 Question Id : 5861807395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of India’s upcoming manned space mission?

Options:

1. = Mangalyaan

2. = Aditya - 1.1

3. v Gaganyaan

4. = Chandrayaan - 2

Question Number : 77 Question Id : 5861807395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & EMHT ATdagFd JANE AHAI FT A17 F41 &7

Options:

1. = FHITeldTal




2. % 3ecT - L1
3. ¢ 9Tl
4. = TgATeT - 2

Question Number : 78 Question Id : 5861807396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The International Crops Research Institute For The Semi - arid
Tropics(ICRISAT) is stationed at:

Options:

1. = Thiruvananthpuram
2. v Hyderabad

3. = Panaji

4. = Mohali

Question Number : 78 Question Id : 5861807396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3d-ereeh ITOTR T 8 HRTSET Bl efHUTel TEUTe]
{The International Crops Research Institute For The Semi-
arid Tropics (ICRISAT)} # Paa gl

Options:

1. = fa%dedyia
2. v SIS

3. * UG

4. = HYETel

Question Number : 79 Question Id : 5861807397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The headquarters of Asian Development Bank is situated at

Options:



1. = Thimpu

2. = Tokyo

3. = Kathmandu
4. v Manila

Question Number : 79 Question Id : 5861807397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTRRITS fashre e 1 AEATerd H Fua g

Options:

1. = g
2. = AT
3. = FIGHTS

4. v HaTell

Question Number : 80 Question Id : 5861807398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the followings is a BRICS country?

Options:

1. = Bhutan

2. v Russia

3. = South Korea
4. = Italy

Question Number : 80 Question Id : 5861807398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fet # & &I, v o9 (BRICS) 221 87

Options:

1. = sgeret

2. v ®H
3. = EI&oT HIRET



4. = ol

Arithmetic Ability1
Group Number : 5
Group Id : 586180356
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 586180360
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180499
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861807399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

35+(5x9)+3+6
The value of _zx }1 =N S
(-25+33) =2

Options:
1. = 4

? x 14



Question Number : 81 Question Id : 5861807399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

35+(5x9)+3+6
2 1
(-25+3)+2

= 12 FTAH AT F7

Options:
1. % 4
2 9w 14

Question Number : 82 Question Id : 5861807400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
(34)°—(7.6)%3 4+ (4.2)* + 12.6 % 2584

The value of : - =
(3402 +(76)2 4+ (42)2 4+ 34 x 76 + 76 x 42 — 42 X 34

Options:
1.v 0

7 = 0.1

3. % 0.01



A % 0.001

Question Number : 82 Question Id : 5861807400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(3.4)3—(7.6)% +(2.2)3 + 12.6 x 25.84
(34)2 + (76)2 +(42)2 4+ 34 X 76 + 76 X 42 — 42 X 34

T HATT AT FI?

Options:

1. v O
2 = 0.1
3. % 0.01
A« 0.001

Question Number : 83 Question Id : 5861807401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

83.7 X 83.7 + 16.3 x 16.3 — 83.7 X 16.3 1,
The value of = 333~ is:
0.837 X 0.837 X 0.837 + 0.163 X 0.163 X 0.163 3
Options:
1. = 10
? % 20
3.v 30

4 % 0.1



Question Number : 83 Question Id : 5861807401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

( 83.7 X 83.7 +16.3 X 163 —83.7 X 16.3
0837 X 0.B37 X 0.837 +0.163 X 0.163 X 0.163

. 3332 37 AT AT
) = 333;

Options:

1. = 10
2 = 20
3. v 30
4. = 0.1

Question Number : 84 Question Id : 5861807402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1.5x15+2.7 %27+ 08x08—-25 ) a ( 33 l)
0.15x 0.27 +0.27 % 0.0B + 0.08 x 0.15 ] 3

The value of (

Options:
1. = 0

Question Number : 84 Question Id : 5861807402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15154+ 27x2.7+08»x08—25 1
( ] - (—33—) T AT ET
0.15 x 0274+ 0.27 x 0.08+ 0.08 %x 0.15 3

Options:

¥



Question Number : 85 Question Id : 5861807403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of share A increases by 60 paise every year, while the price of share B increases by 33 paise every year. If in
1991, the price of share A was Rs. 6.20 and that of share B was Rs. 8.30, in which year will share A cost 60 paise more
than share B?
Options:

1. v 2001

7 % 2003

3. % 2005

4 = 2007

Question Number : 85 Question Id : 5861807403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ML A Fr FrFT 7T T 60 YT ¢ F4r &, FESF 99T B #Y HET &7 T 33 3@ g€ 4T B ofe
1991 & 9T A &Fr g 9 6.20 T 9T B & g 79 8.30 o, I B a¥ F 9w A Fr FEg
9T B & FrFT ¥ 60 3T 30w g soene

Options:



1. « 2001

2 % 2003
3. % 2005
4. % 2007

Question Number : 86 Question Id : 5861807404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 5x= 12y and 6z =7y, thenx : v : z is equal to:
Options:
1. « 72:30:35

3.0% 22:12:30

s

Ln
hn
fad
[
—
-2

Question Number : 86 Question Id : 5861807404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg 5x = 12y iR 6z =7y & A x: y: z FEF TARF g7

Options:

1. « 72:380: 35



7 = 66:6:15

3. % 22:12: 30

4. % 55:30: 12

Question Number : 87 Question Id : 5861807405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1.6667)(0.4444)(2.6666) ,
(0.3500)(1.3333)(0.2222) e

The value of

Options:
1. # 19.408

7« 19.048
3 % 19.804

A % 18.048

Question Number : 87 Question Id : 5861807405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1.6667)(0.4444)(2.6666) |
(0.3500)(1.3333)(0.2222) =¥ :Frl?-l'g 9T

Options:

1. = 19.408

2.« 19.048



3. % 19.804

4. % 18.048

Question Number : 88 Question Id : 5861807406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the real cube root of the expression [(13.26)(175.8276) + (527.4828)(0.74) + (39.78)(0.5476) +
(0.5476)(0.74)] 2

Options:
1. = 13.26

3 v 14

4 = 0.7

Question Number : 88 Question Id : 5861807406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= sffeafFa & aafas aa e Far gem?

[(13.26)(175.8276) + (527.4828)(0.74) + (39.78)(0.5476) + (0.5476)(0.74)]
Options:

1. = 13.26



3 v 14

4. = 0.74

Question Number : 89 Question Id : 5861807407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
226

When a fraction is multiplied by itself and then the product is divided by its reciprocal, its results is 10— Find the
average of the squares of the numerator and the denominator, when they appear as co-primes, in the original fraction
expressed.

Options:

1. % 101.5

7w 1025

3. % 100.5

4. % 108.5

Question Number : 89 Question Id : 5861807407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

st forer faesr @ 9er 3T & Tom far Sar § 3R 5T sueee B 3Ek geEA o
fsnfora foram smar &, & TRomE 102 9reg giar &1 3T A e F, v IR W F

1728
TOT, I F HTEHST TET H Tohe gla 2, & 3w 719 F1
Options:
1 % 1015

2. ¢ 1025



3. % 100.5

4. » 1085

Question Number : 90 Question Id : 5861807408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Mark5' 0.25

In a class of 40 students, - > of the total number of students like to play cricket onh = of the total number of students like
to play chess only and '[l‘le remaining students like to play both. What fraction of the total number of students like to play
both?

Options:

1. =

U] b

Ui | ba

Ui |

Ul | e

4 %

Question Number : 90 Question Id : 5861807408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

40mﬁﬁwmﬁ,gﬁrmﬁ#§aﬁrmﬁﬁ?£@m q:ﬁa%,gmma‘ré:%aﬁrm
ammmﬁ,aﬁaﬁgmﬁaﬁaﬁr@a@quq%l Fol BT & Fhaat s
F S eT BT TTE 272

Options:

1.

Ul | w



Ul | ka

ul | e

| b

Question Number : 91 Question Id : 5861807409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF of two numbers is 8 and their sum is 96. If both numbers are two digit numbers, what is the sum of their
reciprocals?

Options:

1. % 70

13
? % 70

3.v 70

11

Question Number : 91 Question Id : 5861807409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T TEITHT T HEgcd® THEIIEAE 8 § AR 34T IeT 96 B IR AT WEUe o dET TEaw ¥ ar 399

SIcHAT FT AT T G2
Options:
1



13

11

Question Number : 92 Question Id : 5861807410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sweet shop arranges sweets in rows for display. If the sweets are arranged 10 in each row then there will be 4 left. If
14 are arranged in each row then 8 will be lefi. If 16 are arranged in each row then 10 will be left. If 18 are arranged in
each row then 12 will be left. What is the minimum number of sweets the sweet shop has?

Options:
1. = 5040

7w 5034

3. % 5004

Question Number : 92 Question Id : 5861807410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

v oS H g W Al Bemar 9fFaat # yenia & fow @ g8 #1 Ife & dafea # 10 et
= aftya & 3 § & 4 Pesa o sva ) 3 14 = 93s 9FT § caefiua B s g
ar 8 THroEar T T €1 5T 9o & ua # 16 Foewat = coattya oy e § & 10 Besar
o T | of @ 9T & 18 fert # cyattyg R S & 12 frorsat e suer ¥ e
HT gEl H 39T FIAGH RSl Y A0 FHI?

Options:

1. = 5040




2. v 5034

3. % 5004

4. % 5028

Question Number : 93 Question Id : 5861807411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A shopkeeper gets milk from two dairy farmers. They bring 80 and 120 litres of milk respectively to the shopkeeper,

who then pours the milk in cans of equal size, so that they get filled completely. Thereafter the shopkeeper is left with 8
litres of milk from the second dairy farmer. What is the maximum possible capacity of a can?

Options:
1. = 18 litres

7« 16 litres

3w 22 litres

A s 24 litres

Question Number : 93 Question Id : 5861807411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF GFER A SUETel ¥ g TIGAT §1 ¥ GHER & 9 FAen 80 A 120 Y gu o €, # W=
# e ¥R F Bt 7 gy s 8, Gww F 3 B off @ ¥ o A 39 3 A gEeer & 9
T AT & 8 A gy 9 S g1 Fe #r wfUwan avAar #r o w12

Options:

1. = 18 =X



2 v 16 @

3w 22 @reT

A, = 24 7T

Question Number : 94 Question Id : 5861807412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Three glasses contain a liquid mixed with water. The ratios of the quantities of liquid and water in the three glasses are

1:4,2: 1 and 4 : 1 respectively. If a new mixture is formed by taking out the mixtures from each glass in the

proportion. 5 : 9 : 10, then what is the ratio of the quantities of liquid and water in the new mixture?

Options :

1. %= 3:5
2.« 5:3
3 % 3:4
4 = 4:3

Question Number : 94 Question Id : 5861807412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& Rrerdr # 9T F Oy v o 99y e S 81 59 O Frarat # e 3 ae o amnet &
FFOE HEAT 1:4,2: 1, R4 15 IR T FEE AT 5: 9 : 10 & 3a A Fsor TFees
U A7 fEAOT FATAT AT §, & A BT F ave A 9 H @ # ee Ae Hiee?

Options:

1. = 3:5



Question Number : 95 Question Id : 5861807413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A vessel contains 50 litres of milk. 5 lifres of milk is taken out from it and replaced by water. Then from the mixture,

5 litres are taken out and replaced by water. Find the quantity of milk in the final mixture.
Options:
1. = 41.5 litres

7« 40.5 litres

3w 451 litres

4. = 43.2 litres

Question Number : 95 Question Id : 5861807413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U& o # 50 deX g El FHH T 5 W g¥ A SHP g I Few I Sar g1 39 s
¥ 5 ¥ gy AR Ferer Far § 3R suA R @ ol fer fear s g1 wfaw Beer F g & oA
AT FL
Options:

1. = 415 3T

2 v 405 @



3 % 45.1 @Y

4. = 43.2 @I

Question Number : 96 Question Id : 5861807414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rachana goes to market with a certain amount. She can buy 60 balloons or 40 pencils. She retains 20% of the amount
for bus fares and buys 20 pencils and of the balance, she purchases balloons. The number of balloons she purchases is:

Options:
1. = 16

? « 18

Question Number : 96 Question Id : 5861807414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= T AfREa ol de SR S 71 39 o @ 38 60 e A1 40 H9fde wig weedr g1 38 Ui
% 20% F FW F o413 F v @ A 7, 3R o= g2 ufr & 20 Ifher a0 gEF A aeh = 9fr &
A TG A g1 3 H oot TEEy TS

Options:
1. = 16
? v 18



Question Number : 97 Question Id : 5861807415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A commission has submitted its report in a particular code which consists of 20 sheets, each of 55 lines and each such
line consisting of 65 characters. This report is reduced into sheets each of 65 lines such that each line consists of 70

characters. The percentage reduction in number of sheets is closest to:

Options:
1. ¢ 20%

? w% 25%

Question Number : 97 Question Id : 5861807415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE R F UH Y 13 F 39l RE gvga #r g SwA 20 o, & ofe # 55w Ak W A
F 65 IUT g1 39 =7 O & ofict & g=ar = 7 ¢ Gar Far ¢ 3w & ofic & 65 o= 3k &
== # 70 TOT onfAe T T I §1 ot Fr s # gfoee w5 e e & 3w 9w g

Options:

1. v 20%

2 % 25%

3. % 5%



4. % 30%

Question Number : 98 Question Id : 5861807416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
At the election for the President of Students’ Union in a university, the number of votes not cast for the person A

increased by 25% over those not cast for her in the previous election, and A lost by a majority twice as large as that by
which she had won the previous election. If a total of 26000 students voted each time, how many voted for A in the
previous election?

Options:
1. %= 11000

7 % 12000

3. % 13000

4. » 14000

Question Number : 98 Question Id : 5861807416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁaaﬁmwﬁmﬁu%m#%ngcgmﬁﬁ,Aa:trﬁﬁﬁm‘i‘rmmq?a’m"r#
HeFEel $H WIS AT 98 diel & BEAr 25% ¢ 78 AR Adeaa A Row gae 7 Tas det @ S o,
3% HEEe 30 AT H A Al A g 3| TG & A H AdG A e ordl H Fa qE;
26000 oft, & froer goa # A & waT # frae ol & FAaae FFar o

Options:
1. = 11000
2 % 12000

3. % 13000



4. « 14000

Question Number : 99 Question Id : 5861807417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ages of four cricket players in a team in the year 1995 was x, x + 12, x + 24 and x + 36. After some years the
oldest player among them retired and as a result, the average age of the team was reduced by 3 years. After how many
years from his retirement, will the average age become the same as in 1995?

Options:
1. = 2Yyears

7 3years

IR 4 years

4 = 6 years

Question Number : 99 Question Id : 5861807417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a¥ 1995 H ve &F H IR Tohee RWe2al #7 37 v, v+ 12, x +24, FA ¥ + 36 off| FT AW F TG
A ¥ FEw e Benst R & R aRorassww, 5 @ Aiea g 3 ¥ FA g s 0
F & 30 Remdie ¥ o @t & &, Aiied g f & 1995 #r sifaa g F awEy & S

Options:

1. = 29

7. 39

3 o« 4 @



4. » 6 @\

Question Number : 100 Question Id : 5861807418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A famous college building has five floors and they are running a hostel on the third, fourth and fifth floors. The rooms
are numbered from 3001 to 3030 on the third floor, 4001 to 4200 on the fourth floor and 5001 to 5330 on the fifth floor.
In the month of June, the room occupancy was 40% on the third floor, 75% on the fourth floor and 30% on the fifth
floor. If it is also known that the room charges are Rs. 100, Rs. 150 and Rs. 200 on each of the floors respectively, then

find the average income per each occupied room in the hostel for the month of June?
Options:
1. #= Rs.165.65

? « Rs. 166.67

3. % Rs. 166.92

4. % Rs.16725

Question Number : 100 Question Id : 5861807418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 9iig Flolsd & UTH Us 9" Aferdr 997 ¢ 3T § sga dad, st st o=t #fee v oeem

el ¢ &1 Jradr AfSrer 9T 3001 & 3030, =iefr Hferer o 4001 & 4200 3T 9=t AfSrer o 5001 &
5330 T FFX g1 T F T H Srad Afeer W 40%, Tl #@fee | 75% AT T=E #fee W 30%
FAT Y A 3 I W AT W FR F BT FAEer w97 100, T9F 150 R T 200 F LeH
sﬂmqs?-n%,ﬁmﬁ%@#nﬁ#ﬁm#gﬁgﬂ#gﬁmﬁr%m%ﬁﬁ

Options:

1. % TI9 165.65

2. v TI¥ 166.67



3. % TIT 166.92

4. % TI 167.25

Arithmetic Ability?2

Group Number : 6
Group Id: 586180357
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability?2

Section Id : 586180361

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180500
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861807419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A plastic merchant can buy some items at the rate of Rs. 45 per item. The particular item is part of an overall collection

and the value is linked to the number of items that are already on the market. So, the merchant sells the first item for Rs.
3. the second one for Rs. 6, the third for Rs. 9 and so on. If he wants to make an overall profit of at least 30%, what is
the minimum number of items he should sell?
Options:



Question Number : 101 Question Id : 5861807419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TE TAIEESH SN FT aEGIHT F T 45 Wi aF] & fEE & wiEdr 71 5 ¥ v @YW g 0w
THT WIE H E § 3R A FAT qoR # Uy TR B dEw @ G ge &1 sl ggel
TEG T 3, gEY TG TIH 6, AEY &G TH 9 A AHEY off s YW § A9 g1 I 3T FA ¥ FA
30% T THI W7 FAAT FgaT ¢, ar 3He G a=7 St Aol TEGHT I wgAdH FEIT gren?

Options:

1. = 28
2. = 30
3 % 32
4. v 38

Question Number : 102 Question Id : 5861807420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The owner of a novelty shop is following a certain business strategy. Every once in a while he raises his prices for y%.

then a while later he reduces all the new prices by ¥%. After one such up - down cycle the price of a certain gift article
decreased by Rs. 441. After a second up -down cycle the gift article was sold for Rs. 1944.81. What was the original
price of the gift article?
Options:



1. % Rs.2286.25

7 & Rs.2756.25

3 % Rs. 2700

A % Rs.2786.25

Question Number : 102 Question Id : 5861807420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH ALl G U [ATEd AT WIS $ To HaT g1 g gHA FO THT H FOAT HrEar H
y% F1 T a & &, 3N FT AT a7 s P F y% H FA F I T T TR F FA
AT F F FOEIwT U IR UF e aFg 7 FEG TOF 441 FF g S §1 g8y a% FA -
Tl H & A 77 Foe 3T T 1944.81 H = Ik € B arg F 77 e B o w192

Options:

1. = I 2286.25

2 T 2756.25

3. % TI¥ 2700

4. % TUF 2786.25

Question Number : 103 Question Id : 5861807421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sells his car at a loss of 20% to B, and B sells it to C at a loss of 12%, C sells to D at a gain of 15%. If D pays
T 2,83,360 for the car, then how much was paid by A?

Options:



1. = Rs.3.20,000

9 % Rs.3,40,000

3 » Rs.3.50,000

4. = Rs.4.50,000

Question Number : 103 Question Id : 5861807421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT FRFT20% Fr @ WB F, AT B 2% A FF WCF, I CEH 15% F AT WD
H I T g1 ARG D F 3 FR & fow T9F 2,83,360 F A ohAT, AT A TIART ST I A AMRY
&1 IUTAT FL?

Options:

1 % ¥I¥ 3,20,000

2 % TIA 3,40,000

3 ¥9¥ 3,50,000

A« T 450,000

Question Number : 104 Question Id : 5861807422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Raghu went to buy shirts and found that there is a discount of 2596 on the purchase of shirts. He wanted to save Rs. 500

through discount where the cost of each shirt is Rs. 250. Then how many shirts does he need to buy?

Options:
1.~ 8



? % 10

3. % 12

4 = 13

Question Number : 104 Question Id : 5861807422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T TS 711 W 38 gar Tor fF oF @lea W 26% H e T W g1 Feds U H FAq 98
250 § 3R g =Ear & BF 9% 39 O ¥ ATenA ¥ T9% 500 H Fug T o TG F e a8 T
g39M?

Options:

1. v 8
2 = 10
3 o= 12
4 = 13

Question Number : 105 Question Id : 5861807423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
When payment is made online, the discount offered is 12%. An additional discount of 5% is given to credit card

holders. Kamlesh buys an article worth Rs. 12,500 by paying online and pays through his credit card. How much does
he need to pay?

Options:

1. « Rs. 10,450



9 % Rs. 10,000

3 % Rs. 10,350

4. % Rs.10,250

Question Number : 105 Question Id : 5861807423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HAASA ST A T 12% H P& & A g1 wise F1s g Ht 5% Hr e ge & i 2
FHAY T 12,500 HT Teh TEG HAeTelsal T Fieh UG 8 A FHF [T 98 9IS HET F15 &
I FIAT g1 I Thaar TR e FEAT grei?

Options:

1. » T9& 10,450

2 % T9F 10,000

3 % I 10,350

A« TIF 10,250

Question Number : 106 Question Id : 5861807424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Rajan has invested a certain amount in simple interest for X years. It amounts to Rs. 500 at 10% per annum. But when

invested at 4% per annum. it amounts to Rs. 300.What is the value of X?
Options:
1. = 15

2. v 20



Question Number : 106 Question Id : 5861807424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS o HYROT =401 W X Jut & fore e e of¥r & @9 & 10% gfoey Frax @ o7 ofar
T 500 & AT g1 AT J T/ 4% Wi ¥ T gX ¥ T TR Sar g ar o ufer 9 300 g
A &1 X & HF AT S

Options:

1. = 15
2. v 20
3 = 25
4 = 16

Question Number : 107 Question Id : 5861807425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A hardware merchant claims to be lending money to a private bank at simple interest, but he includes the interest every

six months for calculating the principal. If he is charging an interest of 12%, then what is the effective rate of interest
after one year?

Options:
1. = 12.25%

7 v 12.36%



x 15.25%
3.

A % 15.36%

Question Number : 107 Question Id : 5861807425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T% FEAER SN T el 3% @ ER0T S8 R ONET 3UR & #T ST AT §, Al dg Hadd &I
o F T SEE W o A H SO SAsar @ar g1 Af 9% 12% #T X ¥ U IHA F @, A
UF Y F 91¢ =T S THAET 2T F47 geEh?

Options:

1. = 12.25%

2. v 12.36%

3. % 15.25%

4. % 15.36%

Question Number : 108 Question Id : 5861807426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Mr. John invested an amount of Rs. 15,000 divided between two different schemes A and B respectively. at the simple

interest rates of 18% p.a. and 15% p.a. respectively. If the total amount of simple interest earned in 4 years is Rs. 9750,
what was the amount invested in scheme B?

Options:

1. = Rs. 7,875

7 Rs.8.750



3 % Rs.8.875

4' ® Rs. T:Tf\ﬂ

Question Number : 108 Question Id : 5861807426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& FAT T TIT 15,000 Fr T F TIA Fr 2 AT - HAT AFa#T A 3T B F Ruyea w T &,
ST FAT 18% whaaw 3 15% Sfoms 1 @ F =0 & oA Far gl G TR Fer H 58 FURT
m#mﬁ@mﬁ&ﬁﬂﬁﬁﬁ,?ﬁamﬁﬁéﬁﬁﬁﬁwﬁw

Options:

1« %A 7,875
5 » T 8,750
3« T 8,875
A x T 7,750

Question Number : 109 Question Id : 5861807427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Ramu had invested the same amount of sums at simple as well as compound interests. The time period of both the sums

was 2 years and the rate of interest was the same 10% per annum. At the end he found a difference of Rs. 1500 in both
the interest received. Find the sum invested.

Options:

1 s Rs. 1,50,000

9 % Rs.1,40,000



3 % Rs. 130,000

4. % Rs.15,000

Question Number : 109 Question Id : 5861807427 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & FUROT S0 3R THgTE SO T UF WA SAUREr & Seer A g awatia w2 e
# 3I F e 3t 10% gfaes & suer g7 ¥ FRfRE o o7 an) 39 & 39 o A9t ¥ g
msrﬁmﬁtsmmaimmgmﬁéﬁauﬁr#mﬁi

Options:

1 » ¥ 1,50,000

2 % TAH 1,40,000

3 % T 1,30,000

4. % FTI&F 15,000

Question Number : 110 Question Id : 5861807428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money amounts to ¥ 81,000 in 4 years and T 64,000 in 2 vears compounded annually. Find the rate of interest.
Options:

1. % 12%

7 v 12.5%

3. % 10.5%



A % 9%

Question Number : 110 Question Id : 5861807428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fAfETa oftr o1ff= a7 & gofee @9 9T 4 Tmar & T92 81,000 3K 2 @ret # 9 64000 g ST
g1 U T AT R
Options:

1. = 12%

2. v 125%

3. % 105%

4. = 9%

Question Number : 111 Question Id : 5861807429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The base of a prism is a square having sides of 10 cm. If its height is 8 cm. what is the ratio of the numerical values of
the volume of the prism and its total surface area?

Options:
1. = 10:13

? % 13:10

Question Number : 111 Question Id : 5861807429 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
ve frsw & 3R 10 cm & s aer wF @ g A sEhH Fus 8 om g, A oA & amwaw Ak
3T Fol TOIT STl & HEACHS HIA! F1 eI AT H7

Options:
1. %= 10: 13
2 % 13:10
3. v 20:13
4. = 13 :20

Question Number : 112 Question 1d : 5861807430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A tank is 8 m long and 5 m wide. At what speed should water run through a pipe 6 cm broad and 5 cm deep so that in 3

hr and 20 minutes, the water level in the tank rises by 6.5 m?
Options:
1. = 22 km/hr

? % 24 km'hr

3. v 26 km/hr

A = 28 km/hr

Question Number : 112 Question Id : 5861807430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TH &k 8 m o X 5 m =i=r 81 6 cm =iEr 3R 5 cm D =9 ¥ Bw o @ 9= semar i afs
3 o 3T 20 T A, &% # FoEaT 6.5 m 5 AT
Options:



1. = 22 kmthr

2w 24 km/hr

3. v 26 km/hr

4 = 28 km/hr

Question Number : 113 Question Id : 5861807431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Marbles of different colours of diameter 1.4 cm are dropped into a cylindrical container having some water. The marbles

get completely submerged. The diameter of the container is 14 cm. How many marbles have been dropped in it, if the
water level rises by 6.3 cm?

Options:
1. = 545

7 % 645

3 % 575

A v 675

Question Number : 113 Question Id : 5861807431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TAAHR Heel A 1.4 cm E F Rffiew T & TR e 3 81 3 Teo) 96 # 90 @ ¥ =
AT &1 FAT FT <OTH 14 cm g1 T FTAEaT 6.3 cm I 1T g, af 0T ¢ & S8H fohae Teaw
BT a7 22

Options:




1. « 545

2« 645
3. % 575
4. v 675

Question Number : 114 Question Id : 5861807432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
When valve A alone is opened to fill a sump, it takes 25 hours more than the time taken to fill the sump when valves A

and B are opened together. But B alone takes 9 hours more than the time taken to fill the sump when both valves are
opened together. In how much time can valves A and B together fill the sump?

Options:

1. % 12 hours

? % 13 hours

3.« 15 hours

/. = 16 hours

Question Number : 114 Question Id : 5861807432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST dTeg A T Haol U ATEE 8 & 9T el a7 § af e #F 85 H, a9 A 3t B 2=t
F Wl IT AT FT 9 H o9 el §AT ¥ 25 U F8e g g1 36 99T ¥ B 3¥kel, a0
Iredl IRT ATES & o H BT 9T §Hy ¥ 9 ue R Jar g1 Ireg A 3t B &= o U @y
Qe T AEST FF 7 F o9 Ier GHT H7 0T FL7

Options:



1. = 12 &€

2 % 13 T
3. v 15
4 = 16 =T

Question Number : 115 Question Id : 5861807433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Valve A can fill a sump in 16 hours and valve B can fill the same sump in 10 hours. Only valve A is opened first. After

how many hours should valve B be opened so that the sump will be filled in § hours?

Options:

1. % 3 hours 30 mins

? % 5 hours

3. % 4hours

4. « 3hours

Question Number : 115 Question Id : 5861807433 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aed A T AEET # 16 gef & 3T Ireg B 38 Jea & 10 et & T TFhdT g1 U8 Faer aea A
Fr T AT g1 ATEET 8 el # o & & v areg B #1 fhgsr ¥l 1 @ =T aige?

Options:

1. = 39 30 fAee



4. v 3T

Question Number : 116 Question Id : 5861807434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nithya drives her car from her home at a speed of 30 kin/h and reaches the theatre 60 minutes late. The next time she
increases her speed by 5 km/h but still arrives late by 30 minutes. Find the distance from her home to theatre?

Options:
1. ® 107 km

7 « 105km

3 % 104 km

A % 108 km

Question Number : 116 Question Id : 5861807434 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forear a9 X @ FR F 30 kmth #F a1 F e ¥ AR 38 Rvex wgwa # 60 Bwe #r &f @ S
&1 3Tl o &g el A 6 km/h sl § A R o 30 Tawe &8 ¥ wgEeh ¥ 3E W ¥ R
$r gl @ AT FL?

Options:

1. % 107 km

2 & 105 km



3. % 104 km

4. % 108 km

Question Number : 117 Question Id : 5861807435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two mini busses A and B start together in the same direction from the same place X. The first mini bus A runs at a
uniform speed of 8§ km/hr. The second mini bus B runs at a speed of 6 km/hr in the first hour and increases the speed by
Y4 km/hr after each succeeding hour. After how many hours will the second bus B overtake the first bus A if both run
nonstop?

Options:

1. = 16hrs

7 % 18 hrs

3 « 17hrs

4 = 15hrs

Question Number : 117 Question Id : 5861807435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& A sw A B, X g & o & Ram &7 vsF & Se @ T % gt g1 Ugen R a7 A, 8
km/hr @1 T T AT & e €1 gE B a9 B, TEd 6 F 6 km/hr Fr At & Ter € 3R 3w
§1E & 9¢ Y% km/hr & 39T A e W g1 IR T S a8 e T AR 9« W@ g o gud 89
B I 986l 987 A & 3ateHd la F hdel Oe T AT FEEm?

Options:

1. = 16 hrs

72 % 18 hrs



3« 17 hrs

4. % 15 hrs

Question Number : 118 Question Id : 5861807436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The speed of a boat in still water is 20 km/hr. It can go 24 km upstream and return downstream to the original point in

2& hours. What is the speed of the stream in km/hr?

Options:
1. = 2km/hr

? % 3 km/hr

3.« 4 km/hr

4. = 8kmr

Question Number : 118 Question Id : 5861807436 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2y 7 # T A1 Fr afF 20 km/hr &1 T F19 HET F AT 9T F FY 24 km FT 3T 91T F
ﬁqﬁawﬁaﬁrﬁzgﬁﬁﬂmaﬁr% km/hr & aRT &7 AfT #Hr TI0EAT FL?

Options:

1. = 2 km/hr

2. % 3 km/hr



3 v 4 km/hr

4. = 8 km/hr

Question Number : 119 Question Id : 5861807437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The percentage distribution of the population of five districts Dy, D>, D3, D4 and Ds in a state on the basis of the

poverty line and also on education is provided in the following table.

District % of population | Proportion of Educated and
below the Uneducated
oty Imu Below Poverty Above Poverty
IiI'IE Iine
E:U E:-U
D, 35 5:6 6:7
D1 25 35 4:5
D, 24 1:2 2:3
19 3:2 4:3
D,
D, 15 5:3 3.2

If the educated population above the poverty line in the district D3 is 19 lakhs, then the total population of district D3 is?

Options:

1. % 45.5 lakhs

7 62.5 lakhs

3. % 58.5 lakhs

/. % 48.5 lakhs

Question Number : 119 Question Id : 5861807437 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
o arfemr & 778 @ 3k BeT F 3R | &= a9 % 9= 5=t Dy, Dy, Di, Dy 3R Ds
N FATET FT Taed EEoT 2T 4w gl

forer I TEr A fafera st sfafda & s
R Ll ey ey ey g—

TGt E = U E sl
D, 35 5:6 67
D, 25 3:5 4:5
D, 24 1:2 2:3
D. 19 3.2 43
D: 15 5:3 32

ofg f5er Dy & a1l Y@ & s RfET e 19 o g, & e D; & For saaear e 82
Options:

1. = 455 o@

7 v 625 9@

3. % 585 F@

4. « 485 @@

Question Number : 120 Question Id : 5861807438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The percentage distribution of the population of five districts Dy, Dy, D3, Dy and D5 in a state on the basis of the

poverty line and also on education is provided in the following table.

District % of population | Proportion of Educated and
below the Uneducated
poverty line
Below Poverty Above Poverty
line line
E:U E:U
Dl 35 5:6 6:7
D. 25 3:5 4:5
D3 24 1:2 2:3
D, 19 32 4:3
D. 15 5:3 3:2

What will the educated population above the poverty line be for district D if the uneducated population below the

poverty line for district Dy is 21 lakhs?

Options:
1. % 27 lakhs

7 33 lakhs

3. % 38 lakhs

/. % 42 lakhs

Question Number : 120 Question Id : 5861807438 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ffafEa ofeer & e Yar st e & smur ot 5 =7 & 9= &=t Dy, D, Ds, D, 31T Ds
T FTEEIT T FiaeT fFgver gerar T

forer IET @ o A Rifera il affda & s
Skl ey ey oy ———

e E: U E:U
D, 35 56 6 :F
D, 25 Sk 4:5
D, 24 7 [ LR
D, 19 F2 4d.:.3
Ds 15 5:3 3:2

o &er D, # 796 T ¥ A= 38T ey Fr §=ar 21 9@ § ar Ser D, # e W I
& FagEar #7 0T 2

Options:

1. = 27 o1@

7. v 333

& = 38 @@

4. = 42 9T
General English1
Group Number : 7
Group Id: 586180358
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0

Group Marks: 20



Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 586180362

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180501
Question Shuffling Allowed : Yes

Question Number : 121 Question 1d : 5861807439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined
idiom.

We had an amazing stay at the resort, though it costed an
arm and a leg.

Options:

1. = rather cheap

2. = not worth it
3. v very expensive
4. = very disappointing

Question Number : 121 Question Id : 5861807439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the meaning of the underlined

idiom.

We had an amazing stay at the resort, though It costed an

arm and a leq.

Options:

1. = rather cheap

2. *= not worth 1t

3. ¥ very expensive

4, = very disappointing

Question Number : 122 Question 1d : 5861807440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined
idiom.

Ranbir is in hot water again for his stupid actions.

Options:

1. = in prison

2. % 1n the shower
3. » wet in the rain
4. v in trouble

Question Number : 122 Question Id : 5861807440 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the meaning of the underlined

idiom.

Ranbir is In_hot water again for his stupid actions.

Options:

1. = In prison
2. %= In the shower
3. = wet In the rain

4. v In trouble

Question Number : 123 Question Id : 5861807441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there is no improvement needed then select
‘No improvement’ option.

She filed a divorce case on the basis of home violence.

Options:

1. v domestic

2. = private

3. = cruel

4. = no improvement

Question Number : 123 Question Id : 5861807441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

She filed a divorce case on the basis of home violence.

Options:

1. v domestic
2. % private

3. = cruel

4. = no Improvement

Question Number : 124 Question Id : 5861807442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

There is fragrance in the room, please open all the windows.

Options:

1. = aroma

2. v odour

3. % scent

4. = no improvement

Question Number : 124 Question Id : 5861807442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

There I1s fragrance in the room, please open all the windows.

Options:

1. = aroma
2. v odour
3. % scent

4. = no Improvement

Question Number : 125 Question Id : 5861807443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is one word substitution for the given
phrase.

one who Is all powerful

Options:

1. v omnipotent
2. = omnipresent
3. = omniscient
4. = ominous

Question Number : 125 Question Id : 5861807443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that i1s one word substitution for the

given phrase.

one who Is all powerful

Options:

1. v omnipotent
2. * omnipresent
3. * omniscient
4. = ominous

Question Number : 126 Question Id : 5861807444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

“I have to leave home on urgent office work. Please find
documents I gave you, by time I come back in
evening.”

Options:

1. = a, the, a, the

2. = the, the, a the

3. v an, the, the, the
4. = the, the, the, the

Question Number : 126 Question Id : 5861807444 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

“| have to leave home on urgent office work. Please
find documents | gave you, by time | come
back In evening.”

Options:

1. = a, the, a, the
2. = the, the, a the
3. v an, the, the, the
4. = the, the, the, the

Question Number : 127 Question Id : 5861807445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Savita came down stairs and fell down. She uttered
cry of pain and said, “I was in great hurry.”

Options:

1. % a,4a,a

2. % a,the, a
3. = the, the, a
4. «the, a, a

Question Number : 127 Question Id : 5861807445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

Savita came down stairs and fell down. She uttered

cry of pain and said, “| was In great hurry.”

Options:

1. = a, a, a

2. % a, the, a
3. = the, the, a
4. v the, a, a

Question Number : 128 Question Id : 5861807446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

He held his breath a long time, and walked the
scene the accident.
Options:

1. = after, across, of
2. = for, forward, by
3. = since, towards, at
4. v for, towards, of

Question Number : 128 Question Id : 5861807446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

He held his breath a long time, and walked

the scene the accident.

Options:



1. = after, across, of
2. = for, forward, by
3. * since, towards, at
4. v for, towards, of

Question Number : 129 Question Id : 5861807447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

If you do good others, good things will happen
you. remember this.
Options:

1. = for, for, never
2. v 1o, to, always
3. = 1o, by, always
4, = for, with, never

Question Number : 129 Question Id : 5861807447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

If you do good others, good things will happen

youl. remember this.

Options:

1. = for, for, never
2. v to, to, always
3. = to, by, always

4. = for, with, never



Question Number : 130 Question Id : 5861807448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

The boy broke the window, was scolded by father
for negligence.
Options:

1. ¥ who, his, his
2. * whom, her, his
3. * who, his, her
4. = whose, him, his

Question Number : 130 Question Id : 5861807448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

The boy broke the window, was scolded by
father for negligence.
Options:

1. v who, his, his
2. = whom, her, his
3. = who, his, her
4. = whose, him, his

Question Number : 131 Question Id : 5861807449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Jessica hugged doll while Neeta dressed
both like dolls.




Options:

1. = her, her, them, their
2. = hers, her, they, her

3. ¥ her, hers, they, their
4. = hers, her, they, their

Question Number : 131 Question Id : 5861807449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Jessica hugged doll while Neeta dressed
both like dolls.

Options:

1. = her, her, them, their
2. % hers, her, they, her
3. v her, hers, they, their

4. = hers, her, they, their

Question Number : 132 Question Id : 5861807450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

He encouraged her helped her financially,

she 1s very grateful to him.

Options:

1. = both, but, so

2. = also, and, but

3. = 80, and, so

4. v not only, but also, so



Question Number : 132 Question Id : 5861807450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

He encouraged her helped her financially,

she is very grateful to him.

Options:

1. = both, but, so

2. = also, and, but

3. %= so0, and, so

4. v not only, but also, so

Question Number : 133 Question Id : 5861807451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

1s she tall 1s she fat, she is intelligent.

Options:

1. = either, or and

2. v neither, nor, but
3. = however, and, but
4. = Instead, and, and

Question Number : 133 Question 1d : 5861807451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Is she tall Is she fat, she Is

intelligent.

Options:



1. = erther, or and

2. v neither, nor, but
3. = however, and, but
4,

% |nstead, and, and

Question Number : 134 Question Id : 5861807452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Has seen the book I was reading? I have pages to
read to finish the book. I have time now to read.
Options:

1. = none, a little, little
2. = some, the few, much
3. v anyone, a few, some
4, = no one, much, few

Question Number : 134 Question Id : 5861807452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Has seen the book | was reading? | have

pages to read to finish the book. | have time now
to read.

Options:

1. = none, a little, little
2. = some, the few, much

3. ¥ anyone, a few, some



4. = no one, much, few

Question Number : 135 Question Id : 5861807453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

There is too traffic on the road. Just look at the of
cars. I have never seen these cars on the road.
Options:

1. ¥ much, number, many
2. * many, amount, many
3. = much, few, few

4. = few, amount, many

Question Number : 135 Question Id : 5861807453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

There is too traffic on the road. Just look at the
of cars. | have never seen these cars on

the road.

Options:

1. ¥ much, number, many
2. % many, amount, many
3. = much, few, few

4. = few, amount, many

Question Number : 136 Question Id : 5861807454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the correct passive form of the
given sentence.

The firemen have to do a safety drill every year.

Options:

1. = A safety drill is to be done every year by the firemen.

2. = A safety drill had to be done every year by the firemen.
3. v A safety drill has to be done every year by the firemen.
4. = A safety drill has been done every year by the firemen.

Question Number : 136 Question Id : 5861807454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct passive form of the

given sentence.

The firemen have to do a safety drill every year.

Options:

1. = A safety drill 1s to be done every year by the firemen.
2. = A safety dnll had to be done every year by the firemen.
3. v A safety drll has to be done every year by the firemen.

4. = A safety dnll has been done every year by the firemen.

Question Number : 137 Question Id : 5861807455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct indirect form of the
given sentence.

The traffic policeman said to the driver, “Why did you not
stop when the traffic light was red?”

Options:



1. = The traffic policeman asked the driver why you had not
stopped when the traffic light was red.

2. = The traffic policeman asked the driver why he has not
stopped when the traffic light was red.

3. v The traffic policeman asked the driver why he had not
stopped when the traffic light was red.

4. = The traffic policeman asked the driver if he had stopped
when the traffic light was red.

Question Number : 137 Question Id : 5861807455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which i1s the correct indirect form of the

given sentence.

The traffic policeman said to the driver, “Why did you not

stop when the traffic light was red?”

Options:

1. = The traffic policeman asked the driver why you had

not stopped when the traffic light was red.

2. » The traffic policeman asked the driver why he has not

stopped when the traffic light was red.

3. v The traffic policeman asked the driver why he had not

stopped when the traffic light was red.

4. = The traffic policeman asked the driver if he had

stopped when the traffic light was red.

Question Number : 138 Question Id : 5861807456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct order of this jJumbled
sentence:

the same exercise / you are / today also / doing

Options:

1. * The same exercise you are doing today also.
2. = You are doing today also the same exercise.
3. v You are doing the same exercise today also.
4. = Doing the same exercise you are today also

Question Number : 138 Question Id : 5861807456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence:

the same exercise / you are { today also / doing

Options:

1. * The same exercise you are doing today also.
2. *= You are doing today also the same exercise.
3. ¥ You are doing the same exercise today also.

4. = Doing the same exercise you are today also

Question Number : 139 Question Id : 5861807457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence:

to buy /a car /I decided / monthly instalments / by paying

Options:

1. v I decided to buy a car by paying monthly instalments.



2. = I decided by paying monthly instalments to buy a car.
3. » To buy a car by paying monthly instalments I decided.
4. = By paying monthly instalments. I decided a car to buy.

Question Number : 139 Question Id : 5861807457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence:

to buy /a car / | decided / monthly instalments / by paying

Options:

1. v | decided to buy a car by paying monthly instalments.
2. % | decided by paying monthly instalments to buy a car.
3. = To buy a car by paying monthly instalments | decided.

4. = By paying monthly instalments. | decided a car to buy.

Question Number : 140 Question Id : 5861807458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence:

should be / by 8 am / the garbage / put outside

Options:

1. = The garbage put outside should be by 8 am.
2. » The garbage by 8 am should be put outside.
3. » Should be put cutside the garbage by 8 am.
4. v The garbage should be put outside by 8 am.

Question Number : 140 Question Id : 5861807458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that 1s the correct order of this jumbled

sentence:

should be / by & am / the garbage / put outside

Options:

1. = The garbage put outside should be by & am.

2. = The garbage by & am should be put outside.

3. = Should be put outside the garbage by 8 am.

4. v The garbage should be put outside by 8 am.

General English?
Group Number : 8
Group Id: 586180359
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section 1d:

Question Shuffling Allowed :

General English2

586180363
1

Online
Mandatory
12

12

20

1
586180502
Yes



Question Number : 141 Question 1d : 5861807459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

parsimonious

Options:

1. = liberal

2. = spendthrift
3. v stingy

4. % generous

Question Number : 141 Question Id : 5861807459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

parsimonious

Options:

1. = liberal
2. % spendthrift
3. v stingy
4, ® generous

Question Number : 142 Question Id : 5861807460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

eerie

Options:

1. = funny
2. v Creepy



3. = normal
4. = silly

Question Number : 142 Question Id : 5861807460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

eerie

Options:

1. = funny
2. v creepy
3. * normal
4. = silly

Question Number : 143 Question Id : 5861807461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

COMBUSTIBLE

Options:

1. = nonexplosive
2. » harmless

3. = violent

4. v inflammable

Question Number : 143 Question 1d : 5861807461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

COMBUSTIBLE



Options:

1. = nonexplosive
2. ® harmless
3. = violent

4. v Iinflammable

Question Number : 144 Question Id : 5861807462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

PRESUMPTUOUS

Options:

1. v overconfident
2. * humble

3. » quiet

4. = cautious

Question Number : 144 Question Id : 5861807462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

PRESUMPTUOUS

Options:

1. v overconfident
2. = humble

3. ® quiet

4. = cautious

Question Number : 145 Question Id : 5861807463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the synonym of the given word:

ANTAGONISTIC

Options:

1. = friend

2. » assistant
3. = associate
4. v adversary

Question Number : 145 Question Id : 5861807463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

ANTAGONISTIC

Options:

1. = friend
2. % assistant
3. ® assoclate

4. v adversary

Question Number : 146 Question Id : 5861807464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

CORROBORATE

Options:

1. = support
2. = ratify
3. v contradict



4. = endorse

Question Number : 146 Question Id : 5861807464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

CORROBORATE

Options:

1. = support
2. = ratify
3. v contradict

4. = endorse

Question Number : 147 Question 1d : 5861807465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

INORDINATE

Options:

1. v sensible

2. = disproportionate
3. » exorbitant

4. = surplus

Question Number : 147 Question Id : 5861807465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

INORDINATE

Options:



1. v sensible

2. = disproportionate
3. = exorbitant

4. = surplus

Question Number : 148 Question Id : 5861807466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

GALVANISE

Options:

1. = energise
2. v dishearten
3. # encourage
4. = astonish

Question Number : 148 Question Id : 5861807466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option which is the antonym of the given word:

GALVANISE

Options:

1. = energise
2. v dishearten
3. ® encourage

4. = astonish

Question Number : 149 Question Id : 5861807467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the antonym of the given word:

MOROSE

Options:

1. = sullen

2. = ugly

3. = troubled
4. v uplifted

Question Number : 149 Question Id : 5861807467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

MOROSE

Options:

1. = sullen
2. = ugly

3. = troubled
4. ¢ uplifted

Question Number : 150 Question Id : 5861807468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

NONDESCRIPT

Options:

1. v remarkable
2. = ordinary
3. = vague



4, « confused

Question Number : 150 Question Id : 5861807468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

NONDESCRIPT

Options:

1. v remarkable
2. = ordinary
3. ® vague
4

% confused

Sub-Section Number: 2
Sub-Section 1d: 586180503
Question Shuffling Allowed : Yes

Question Id : 5861807469 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that
follow:

We've all felt confused before, and it can be one of the most
frustrating feelings to deal with. Students might be confused
about how to do a math problem or finish a project. Young
people might be confused about who they are and what to do
in the future. No matter what is making us confused, the
feeling of not knowing what the answers or solutions are can
make us feel useless, stupid, and cause us to worry.

A lot of people are hard on themselves and others when there’
s a lack of understanding. People often tend to think the
person who has all of the answers is smarter than the one
who asks a lot of questions. Because of the negative judgment
that surrounds confusion, people often try to hide their
confusion in a variety of ways. Instead of admitting or
accepting that they don’t have the solution, people sometimes
try to pretend they have the answers. At other times, people
make educated guesses or create an answer even if they know
it isn’t right.

Students are often guilty of hiding their lack of
understanding. If confused about a topic in school, they might
pretend to know the answers. They can sometimes be
embarrassed to ask questions. As young individuals, they can
be confused about who they are, and might try harder to
behave in a particular way. They can be too embarrassed to
explore other groups or identities, afraid perhaps of being
called a “wanna - be”. They can be afraid people will know
they're confused.

But confusion might actually be a good thing. When we jump
to an answer, we don’t have time to explore and understand
the thing we’re confused about. Fighting confusion ends up
making us more confused. Instead of fighting or trying to
ignore your confusion, accepting it and taking the opportunity
to analyze what’s confusing can benefit our learning. In fact,
scientific studies show that confusion actually leads to deeper
understanding.

Confusion isn’t just an important step to learning in school, it’
s also important for learning who you are. Psychologists call
that sense of who you are identity. Your identity can involve
being part of groups like race, gender, subcultures. Identity is
also made up of your values and goals. A study published in
the International Journal of Behavioral Development found
that people who do the most exploring about who they are
have better outcomes such as higher self - esteem later in life.
Confusion gives us the space to try new things and be
creative. Allowing ourselves to be confused and ask questions
leads to deeper understanding, more learning, and higher self
- confidence. So, try not to be embarrassed when you're
confused about something. Instead of trying to hide or fight
your confusion, try to resolve it by trying new things.
Embrace the confusion and explore different solutions to your
problem.



Sub questions

Question Number : 151 Question Id : 5861807470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these feelings is NOT created by a sense of
confusion?

Options:

1. = frustration

2. ¥ WOITY

3. v contentedness
4, = uselessness

Question Number : 152 Question Id : 5861807471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What do people do to hide their confusion?

Options:

1. v make guesses or create answers
2. » become overconfident

3. = blame others

4, = ask for solutions

Question Number : 153 Question Id : 5861807472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A ‘wanna - be’ is someone who:

Options:

1. = wants to be great

2. v tries to be someone else
3. = feels isolated

4. % 1s an anti social

Question Number : 154 Question Id : 5861807473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What according to the writer is the best way to deal with
confusion?



Options:

1. = taking a quick action

2. = fighting the feeling of confusion

3. # 1gnoring the feeling of confusion
4. v accepting and analyzing confusion

Question Number : 155 Question 1d : 5861807474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an advantage of confusion?

Options:

1. = scope for exploring one’s identity
2. # opportunity to try new things

3. » leads to deeper understanding

4. v leads to lowering of self esteem

Question Id : 5861807469 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that

follow:

We've all felt confused before, and it can be one of the
most frustrating feelings to deal with. Students might be
confused about how to do a math problem or finish a
project. Young people might be confused about who they
are and what to do in the future. No matter what is making
us confused, the feeling of not knowing what the answers
or solutions are can make us feel useless, stupid, and
cause us to worry.

A lot of people are hard on themselves and others when
there’s a lack of understanding. People often tend to think
the person who has all of the answers is smarter than the
one who asks a lot of questions. Because of the negative
judgment that surrounds confusion, people often try to hide
their confusion in a variety of ways. Instead of admitting or
accepting that they don’t have the solution, people
sometimes try to pretend they have the answers. At other
times, people make educated guesses or create an answer
even if they know it isnt right.

Students are often guilty of hiding their lack of
understanding. If confused about a topic in school, they
might pretend to know the answers. They can sometimes
be embarrassed to ask questions. As young individuals, they
can be confused about who they are, and might try harder
to behave in a particular way. They can be too
embarrassed to explore other groups or identities, afraid
perhaps of being called a “wanna - be”. They can be afraid
pecple will know they’re confused.

But confusion might actually be a good thing. When we
jump to an answer, we don’t have time to explore and
understand the thing we’re confused about. Fighting
confusion ends up making us more confused. Instead of
fighting or trying to ignore your confusion, accepting it and
taking the opportunity to analyze what's confusing can
benefit our learning. In fact, scientific studies show that
confusion actually leads to deeper understanding.

Confusion isn’t just an important step to learning in school, it
s also important for learning who you are. Psychologists call
that sense of who you are identity. Your identity can involve
being part of groups like race, gender, subcultures. Identity
is also made up of your values and goals. A study
published in the International Journal of Behavioral
Development found that people who do the most exploring
about who they are have better outcomes such as higher
self - esteem later in life. Confusion gives us the space to
try new things and be creative. Allowing ourselves to be
confused and ask questions leads to deeper understanding,
more learning, and higher self - confidence. So, try not to
be embarrassed when you're confused about something.
Instead of trying to hide or fight your confusion, try to
resolve it by trying new things. Embrace the confusion and

explore different solutions to your problem.



Sub questions

Question Number : 151 Question Id : 5861807470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these feelings i1s NOT created by a sense of

confusion?

Options:

1. = frustration
2. % Worry
3. v contentedness

4. = uselessness

Question Number : 152 Question Id : 5861807471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What do people do to hide their confusion?

Options:

1. v make guesses or create answers
2. = become overconfident
3. = blame others

4. = ask for solutions

Question Number : 153 Question Id : 5861807472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A ‘wanna - be’ iIs someone who:

Options:

1. * wants to be great
2. ¢ tries to be someone else
3. = feels Isolated

4. % |s an antl social



Question Number : 154 Question Id : 5861807473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What according to the writer Is the best way to deal with

confusion?

Options:

1. = taking a quick action
2. = fighting the feeling of confusion
3. = Ignoring the feeling of confusion

4. v accepting and analyzing confusion

Question Number : 155 Question Id : 5861807474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s NOT an advantage of confusion?

Options:

1. = scope for exploring one’s identity
2. % opportunity to try new things

3. # |leads to deeper understanding
4

. v leads to lowering of self esteem

Sub-Section Number: 3
Sub-Section 1d: 586180504
Question Shuffling Allowed : Yes

Question Id : 5861807475 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Read the following passage and answer the questions that
follow:

Look up from this screen right now. Take a look around. On a
bus. In a cafe. Even at a stoplight. Chances are, most of the
other people in your line of sight are staring at their phones
or other devices. And if they don’t happen to have one out, it
is certainly tucked away in a pocket or bag. But are we truly
addicted to technology? And what about our kids? It’s a scary
guestiorn, and a big one for scientists right now. Still, while the
debate rages on, some doctors and technologists are focusing
on solutions.

Though tech addiction isn’t officially recognized yet in the
United States, there are in - patient treatment facilities for
teens that try to address the problem. I interviewed a teenage
boy who attended a wilderness therapy program in Utah
called Outback.

“I started playing [video games] when I was around 9 years
old,” said Griffin, whose last name I didn’t use to protect his
privacy. He chose email over a phone interview. “I played
because I found it fun, but after a while I played mostly
because I preferred it over socializing and confronting my
problems.” After he spent weeks hiking through the
wilderness, his mother saw a lot of improvement in his
demeanor and focus. However, Griffin came home to a reality
where he still needed a laptop for high school and still used a
smartphone to connect with friends.

Bishop, who runs therapeutic Summerland camps in
California and North Carolina, says the teens who come to
him fall into two broad categories. There are the ones,
overwhelmingly boys, who spend so much time playing video
games that, in his words, they “fall behind in their social
skills.” Often they are battling depression or anxiety, or they
may be on the autism spectrum.

Then there is a group of mostly girls who misuse and overuse
social media. They may be obsessed with taking selfies —
Bishop calls them “selfists” — or they may have sent
inappropriate pictures of themselves or bullied others online.
Regardless of the problem, “We feel the issue is best
conceptualized as a ‘habit’ over an ‘addiction,” “ Bishop says.
“When teens think about their behavior as a habit, they are
more empowered to change.”

In today’s world, technology may he more like food than it is
like alcohol. Video games or social media may be avoidable,
but most students need to use computers for school
assignments, build tech skills for the workplace. How can
people, especially young people, forge healthier relationships
with technology while continuing to use it every day?

You don’t need a doctor’s official pronouncement to work on
putting the devices down more often — or to encourage your
kids to do so as well.



Sub questions

Question Number : 156 Question Id : 5861807476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the writer convey through the first paragraph?

Options:

1. = One finds many people in buses and cafes.

2. * One needs to look up from the screens often.

3. v Almost everyone is addicted to technology.

4. = Possessing technical devices has become fashionable.

Question Number : 157 Question Id : 5861807477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Did the ‘wilderness therapy‘ really help ‘Griffin’?

Options:

1. v to a certain extent
2. = Yes, completely

3. = No, a total failure
4. = not sure

Question Number : 158 Question Id : 5861807478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How does technology addiction affect boys and girls?

Options:

1. = They begin to indulge in anti - social behavior

2. v Boys stop being soclal and girls obsess over social media.
3. = Boys bully and girls get bullied.

4. = Both boys and girls face depression and anxiety

Question Number : 159 Question 1d : 5861807479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these statements does NOT support the writer’s
view that technology is like food and not like alcohol?

Options:



1. = Can’t completely give up technology.

2. = Alcohol has to be eliminated.

3. = No need for doctor’s treatment to reduce technology time.
4. v food can also become an addiction.

Question Number : 160 Question Id : 5861807480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage the simplest solution at present to
overcome technology addiction is to:

Options:

1. = give up using the devices

2. » make the devices unavailable

3. v curtailing the use of these devices

4. = devices to be used only in schools and workplaces

Question Id : 5861807475 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that
follow:

Look up from this screen right now. Take a look around.
On a bus. In a cafe. Even at a stoplight. Chances are,
most of the other people in your line of sight are staring at
their phones or other devices. And if they don’t happen to
have one out, it is certainly tucked away in a pocket or
bag. But are we truly addicted to technology? And what
about our kids? It's a scary question, and a big one for
scientists right now. Still, while the debate rages on, some
doctors and technologists are focusing on solutions.

Though tech addiction isn’t officially recognized yet in the
United States, there are in - patient treatment facilities for
teens that try to address the problem. | interviewed a
teenage boy who attended a wilderness therapy program in
Utah called Outback.

“| started playing [video games] when | was around 9 years
old,” said Griffin, whose last name | didn’t use to protect
his privacy. He chose email over a phone interview. “|
played because | found it fun, but after a while | played
mostly because | preferred it over socializing and
confronting my problems.” After he spent weeks hiking
through the wilderness, his mother saw a lot of
improvement in his demeanor and focus. However, Griffin
came home to a reality where he still needed a laptop for
high school and still used a smartphone to connect with
friends.

Bishop, who runs therapeutic Summerland camps in
California and North Carolina, says the teens who come to
him fall into two broad categories. There are the ones,
overwhelmingly boys, who spend so much time playing
video games that, in his words, they “fall behind in their
social skills.,” Often they are battling depression or anxiety,
or they may be on the autism spectrum.

Then there is a group of mostly girls who misuse and
overuse social media. They may be obsessed with taking
selfies — Bishop calls them “selfists” — or they may have
sent inappropriate pictures of themselves or bullied others
online. Regardless of the problem, “We feel the issue is
best conceptualized as a ‘habit’ over an ‘addiction,” * Bishop
says. “When teens think about their behavior as a habit,
they are more empowered to change.”

In today’s world, technology may be more like food than it
is like alcohol. Video games or social media may be
avoidable, but most students need to use computers for
school assignments, build tech skills for the workplace. How
can people, especially young people, forge healthier
relationships with technology while continuing to use it every
day?

You don’t need a doctor’s official pronouncement to work on
putting the devices down more often — or to encourage your

kids to do so as well.



Sub questions

Question Number : 156 Question Id : 5861807476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the writer convey through the first paragraph?

Options:

1. = One finds many people In buses and cafes.
2. » One needs to look up from the screens often.
3. v Almost everyone Is addicted to technology.

4. = Possessing technical devices has become fashionable.

Question Number : 157 Question Id : 5861807477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Did the ‘wilderness therapy’ really help ‘Gniffin®?

Options:

1. v to a certain extent
2. = Yes, completely
3. = No, a total failure

4. = not sure

Question Number : 158 Question Id : 5861807478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How does technology addiction affect boys and girls?

Options:

1. = They begin to indulge in anti - social behavior

2. v Boys stop being social and girls obsess over social

media.
3. = Boys bully and girls get bullied.

4. = Both boys and girls face depression and anxiety



Question Number : 159 Question Id : 5861807479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these statements does NOT support the writer's

view that technology I1s like food and not like alcohol?

Options:

1. = Can’t completely give up technology.
2. = Alcohol has to be eliminated.

3. = No need for doctor's treatment to reduce technology

time.

4. v food can also become an addiction.

Question Number : 160 Question Id : 5861807480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage the simplest solution at present to

overcome technology addiction Is to:

Options:

1. = give up using the devices
2. * make the devices unavallable
3. v curtailing the use of these devices

4. = devices to be used only in schools and workplaces
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Group Id: 586180360
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Minimum Instruction Time: 0

General Hindi1l

Section Id : 586180364
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Section type: Online

Mandatory or Optional: Mandatory
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Section Marks: 20
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5861807481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GUAT T 9T, 37

Options:

1. * T
2. v Tadslt
3. % JcdgH
4, % doid

Question Number : 161 Question Id : 5861807481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FTFAT AT eleg &7

Options:

1. = et

2. v Tace

3. *» dcdHA

4. » TEG

Question Number : 162 Question Id : 5861807482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

99 & T BT 9T U dogd g7



Options:

1. » gicar
2. % Tg

3. * O
4. v TST

Question Number : 162 Question Id : 5861807482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeeT & O e OT osg TR &7

Options:

1. = "fEhT

2.
3. % EFUT
4. v TET

Question Number : 163 Question 1d : 5861807483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & I BT 9T e goaw §?

Options:

1. = I
2. # oTigl

3. ¢ oldqur

4. » HIq

Question Number : 163 Question Id : 5861807483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeT A & i TT 25 dcdH &7

Options:

1. % STl
2. % olgT

3. v o dur




4. = g

o,

Question Number : 164 Question Id : 5861807484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

g # & S o= aTelT 9%, 3

Options:

1. v UTOIM®
2. % YTINT®H
3. = YOIT®
4. » GID

Question Number : 164 Question Id : 5861807484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et & & g ader arel oree &:

Options:

1. v UTAIETeR
2. = VIR
3. = TR
4. = YR

Question Number : 165 Question 1d : 5861807485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘I — ST Aec, I T gt N g

1. * HUST — THoIT

2. % PUST — 57 Bl %]
3. v QIS — &3 & ar&g
4, % AN — I

Question Number : 165 Question 1d : 5861807485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T - 3T eUsg JIA FT Tl 3 &

Options:




® SHUST - HIoTel
 FUST - §&a1 hT TE]
aﬂm-éﬁaﬁ‘raﬁr

x 9IoTe] - STTATH

ol
<

Question Number : 166 Question Id : 5861807486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. * gTdaT®
2. ¢ HIddddh
3. » haTdd

4. * STddT<ID

Question Number : 166 Question Id : 5861807486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR T U hT TaT &7

1. = ggrdardeh

2. v HIddI<<h

3. ® STFddrd<sh

4. = FATTqd=SR

Question Number : 167 Question Id : 5861807487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘arg’ GA-ITH BT UTATITETA S ST 3

Options:

1. = U4ET
2. % 4T

3, % ST




4, v 3dAT

Question Number : 167 Question Id : 5861807487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TE AIATH T IYRATUEIR [awoT &:

Options:

1. = UGET
2. = o&r
3. % Bcell
4. v 3ddT

Question Number : 168 Question Id : 5861807488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@3’ g yor o faeiuor 37

Options:

1. v TUTETI®
2. % UICHTUT STEIeh

3. x JEITIdd

4. = FIAATHER

Question Number : 168 Question Id : 5861807488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T3 T Top &1 @eiyor 7

Options:

1. v FT0TdI<Ih
s

2. * TNATT seTsh

« HEATdRIH

3.
4. » GEIEh

Question Number : 169 Question Id : 5861807489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ry i SRumeen Rt B



Options:

1. v el =T
2. % TGl
3. = =T
4. % 3MGAT

Question Number : 169 Question Id : 5861807489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Question Number : 170 Question Id : 5861807490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 3Y @1 I g1 arad | TshdT QLAY 3

Options:

1. = #
2. % 39 24T
3. vdh

4, = gt

Question Number : 170 Question Id : 5861807490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ha 38 2@T dF 180 gy # forar ey &:

1. = Hel
2. = 33 g&ET
3. v dh

4. = @l

Question Number : 171 Question Id : 5861807491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e U’ o ITer Teese, g

Options:

1. * §7 + hel
2. v G + hel




3. % g9 + thel
4, = JH + he(

Question Number : 171 Question Id : 5861807491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tehed T AT e g
Options:

1. = He + hed

2. v §H + Fed

« Hel + ey

3.
4., = HH + heq

Question Number : 172 Question Id : 5861807492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TN & DI 9T GATT 872

Options:

1. = qcgey

2. % AT
3. = g

4. v Igailg

Question Number : 172 Question Id : 5861807492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AMSTTaTal’ H hiseT AT TATH &7

Options:

2.
3. * gdod
4.

Question Number : 173 Question 1d : 5861807493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



WA # Thg JUH T YT g3 g2

Options:

1.= 7
2. % T
3. vUIO
4. % 7

Question Number : 173 Question Id : 5861807493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘WT’ﬁﬁ«—Hm?‘rmw’mgaT%?

Options:

1. = @
3. v IO

4, = HL

Question Number : 174 Question 1d : 5861807494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3w # The TegT AT TN F3IT 37

Options:

1. =7
2. v3H
3.« fqw
4, % 3f

Question Number : 174 Question Id : 5861807494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HTaA H v Icgd &7 93190 §31T%’?

Options:

1. = H
2. v SH




3.« faF
4, = 37

Question Number : 175 Question 1d : 5861807495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & I BT 91 e el 32

Options:

1. = Gioigr

2. ® @It

3. GAR
4, v oI

Question Number : 175 Question Id : 5861807495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

famT # O hieT Ir 2eg EHITeT &7

Options:
1. = HTolgTe

2. % Tl

3.%?%?417{'
4. v TET

Question Number : 176 Question Id : 5861807496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TR & TUTTAAD Thg T8 BT ISIGL 57

Options:

1. v 3T U=
2. % GeATH Uea=
3. % TeISIyuT UcE=er
4. = TohdT Uce=¢

Question Number : 176 Question Id : 5861807496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TR o T The UgaesT &7 3EE0T &7

Options:

1. v T Ugaey
2. » HAdATH Ygsed
3. = AT UgEey
4, = Th3T Ugsey

Question Number : 177 Question 1d : 5861807497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“STgT YIS MherdT g, oTgl STERT M gl ST g1’ AT § <STgl Yo Heperdl

&’ [ TR BT IUd1dT g?

Options:

1. » TopaT SUATET

2. v TopaT TerQtwur Suemey
3. * T U

4, « TSy et

Question Number : 177 Question 1d : 5861807497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTEI GIoT Tolshordl &, T@1 AU IS g SAar &1 gy H S8l
IS foleheldl & fFT TshR T 3UaET &7

Options:

1. = ToraT 3vareg
2. v Torar T@evur sugaey

3. = AT 3UATH

4. » TIINUT 3Ugrery

Question Number : 178 Question 1d : 5861807498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TTg 3T 3R F AT’ by YR &T ATdT g2

Options:




1. = YT dTFY
2. TAY ITag
3. v GIh aTHY
4, = JUATFT

Question Number : 178 Question Id : 5861807498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g T AN # 717 TR TR ohT TR &7

Options:

1. = Il diay

« TR gy

2.
3. v {-i-l_-ljci—d GIER?
4. = 3UATRT

Question Number : 179 Question Id : 5861807499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCShH T S8 & I |1 a1 e 87

Options:

1. v B3 GG ol gl el LGl gl
2. % WY Dot GogLd gl Hel Ll gl
3. * TgI Aol @I § # GG Pord|
4. » GeIYId Peld HI g1 [Hel G gl

Question Number : 179 Question Id : 5861807499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YeshA HT TCC @ HleT AT AT UYE B?

Options:

1. v Y FEHIT FoA o8l el T &l
2. = AT FolA oI e AT @I E
3. = gl fHer W § ALl eI shelA|




4. = TSI FoAA AT G e W T

Question Number : 180 Question Id : 5861807500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

3~ T &8 I I AT a1 e 872

Options:

1. * Gid 3 U 3 AET et
2. * Grad 3 Y M AT FGerr
3. » Fieid = ¢ 37 AT et
4. v Fieid T U 3N AT eS|

Question Number : 180 Question Id : 5861807500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3edd T T @ Hlel AT AT UG &7

Options:

1. = gied o gu 3T O Rt
2. » GRIT o g 3R T e
3. » FRIT o g 3 T Eem
4.JﬁﬁlﬁﬁEﬁT3ﬂTﬂ€f@ﬂ'¢l
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General Hindi?

Section Id : 586180365

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 586180506
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5861807501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT BT TATAATT g

Options:

1. = g
2. v AT
3. = glelel
4. % Forg

Question Number : 181 Question Id : 5861807501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T AR §:

Options:

1. = &

2. v AT

3. = glerel

4. % Tolor

Question Number : 182 Question Id : 5861807502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = g1



2. ® qel
3. v gi=dr

4. = gigdr

Question Number : 182 Question Id : 5861807502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TA’ RT qATIATT A8 g
Options:

1. = AT

2. % Tefll

3. v gferar

4, = §1:é'.F|T

Question Number : 183 Question Id : 5861807503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gladar Thgar 1aiadr g?

Options:

1. = @it
2. % q&T
3. % T,

4. vgd

Question Number : 183 Question Id : 5861807503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘gaar Torgerr TIa=r §7?

Options:

1. = &&T
2. « &I
3. ® TUeog
4. v I

o,




Question Number : 184 Question Id : 5861807504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T TATaaTeiT 82

Options:

1. v Teq
2. % JTNILT
3. % TS
4, = dTcel

Question Number : 184 Question Id : 5861807504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. v Jad
2. % 3ThTeT
wm

) D
Question Number : 185 Question Id : 5861807505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. % ATA
2. % AT
3. v e
4. % I

Question Number : 185 Question Id : 5861807505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. % ST



2. = T
3. v gaf
4. = 3IETL

Question Number : 186 Question Id : 5861807506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JUTATT BT TAeTIH 2TeC, 3
Options:

1. = Yoamq
2. v Mg
3.« Mo
4, = FINT

Question Number : 186 Question Id : 5861807506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘NRATT T Tl H eeg &

Options:

1. = Tae
2. v T Ta
3. = foaerrey
4, = Tt

Question Number : 187 Question 1d : 5861807507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘IS PT TAeATH T
Options:

1. v o=t
2. % STHS
3. = 3[eUT
4. » g

Question Number : 187 Question Id : 5861807507 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
‘e FT Aelld g
Options:

1. v @7
2. % 3ATHA
3. = MeUd
4. « 984

O

Question Number : 188 Question Id : 5861807508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TG Taelid 37

Options:

1. * ol

2. % ol
3. % el
4, v g4

Question Number : 188 Question Id : 5861807508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:
1. = gT:ﬁTrr

2. % Gooldl
3. = ol
4, v qel

Question Number : 189 Question Id : 5861807509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘g U i U g1’ Uith @ {@iTehd e DI Teol i g
Options:

1. = e




2. % GHBTIT
3. v U
4, * AETRTAT

Question Number : 189 Question Id : 5861807509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UG Teh 3MdIeilel AL g1’ Tiebd o IWMehd eq T [dollA BI9T:

Options:

1. = oAdrel
2. ® HHRToI
3. v UK
4. = FEGehTollel

Question Number : 190 Question Id : 5861807510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TG PT Al g

Options:
1. = =0T
2. % IR
3. % qu
4 v &y

Question Number : 190 Question Id : 5861807510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HYOT w7 oA &
Options:

1. = =|OT

2. % 3IFOT

3. % EIPT

4, v &&



Sub-Section Number: 2
Sub-Section I1d: 586180507
Question Shuffling Allowed : Yes

Question Id : 5861807511 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

St T&d WU e el UGehd U8 T4 T[T & Iqa gyl

qTigcd HTST DT U gIdT gl Tehdl T I & dTcehllelh FiEpiden Siter Dl

arEdiad AT g lacd & ATEAH § g §IdT gl Yiiacd § YIS Mg €7 &
QuTTad gidT gl GHTS & ST WY ©eATq ©ied gidT 8, dal Gliged DI ig<dT
ST g 3T GHIST Svg! ML R ToldT § ST WlTged H GBI gld 31 37
TS ATRITAT 3R FeeAT gt Fiiged PT 0T F-T g FTATSIDRAT P
STEdiaeh T gl “GITe g1 Siterd dl Tt IgHid 8t “q>Ted’ g, St #ejer
AIRATh EUT UG § AP giaT gl AT T IS H T g, 99 oldT g,
AT YTel TAAT T SIS - U BidT & 399 A THT e T T g2
AT & YD Aieh Pt 39 TATH ¥ THAAT USdT 3 Ycdd edieh AT
Siter # G@ - @ 3TIe; HIAHT3AT T ITHeT BT gl TIelSr GHTT g UL |
Tcd<h Aich & ITH MM - 3761 3l 3l

Sub questions

Question Number : 191 Question Id : 5861807512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TTEITST T JUYeh LA g

Options:

1. « Qiige
2. v Giiged 3R QOIS
3. % GHTS
4. » gt

Question Number : 192 Question Id : 5861807513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘IaT Br 31 giaT 2

Options:

1. v T
2. % ToOIX
3.« e
4. % JEAT

Question Number : 193 Question Id : 5861807514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS DT 3 2

Options:

1. = &4T

2. % N hd]

3. v TgW
4, = AT

Question Number : 194 Question Id : 5861807515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TR BT 31 giaT 2

Options:

1. = JTT

2. ® 35ITd

3. = Ugda
4, v JTA

Question Number : 195 Question Id : 5861807516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JATd’ B:

Options:

1. % AT BT Pledi-d A0
2. v U &7 aIEaraads e
3. * @IoUD T

4, % FAPID AT




Question Id : 5861807511 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

sirer fe=t aTT AT T Tt U5 I Te&Al & S e’

TgcT TATST KT 90T &aT &1 forar o Jar & Arcehifele
SR Siidel 1 EAdsh Al §H T & ATEIH & &l
grar g1 Tifged & AT e T & TATRT 8T &l THATST &
ST 8T gedIe gfed 8idr &, Jal diacd ol 888T deddr & 3N
AT 3ol 382N 9¥ ToldT & SiF dlfecd & Tivead aa gl
3T WTATSIh Jeffadl 3T Hdea & AMfgcd FT a9 eiail g
HTATISoRdT T TEdiaeh 0T &1 F2arey’ &) Sidel shT Tl
HTATT &l AT &, ST ATdg ATEdSh Fﬁrmﬁﬁm
ﬁ’IT-IT%I Hs o1 @A A TEam &, T ol E, m?raqﬁ’r
AT &7 3TETeT - YETd T & 388 ATH A »d I& ohdT &7
AT o Ucdeh sATd ol 38 TUTT & THITAT USdT &1 Tk
ATFd 39el Sliaet A & - g5 3 ATAI FT oA FT &
| IRET AT Bt T T ek chfehed & 37elsTd 3700 - 37efT
8l &

Sub questions

Question Number : 191 Question Id : 5861807512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IEITLT T 3UGF AR Elam:

Options:

1. » giigcd
2. v OifgeT 3K AT




3. * HHAA
4. % AT

Question Number : 192 Question 1d : 5861807513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Iugel’ T HT BT &

Options:

1. v ST

2. = JoX

3. = H

4. = IPEaTer

Question Number : 193 Question Id : 5861807514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘MTETeT T AT &

Options:

1. = Qall
2. % UMET ]
3. v BT
4. = A™ATT

Question Number : 194 Question Id : 5861807515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATH HT 3L BT

Options:

1. = JATT

2. = 3T3dTd
3. % Ug<Tel
4. v AT



Question Number : 195 Question Id : 5861807516 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. » HHATST T khiediaer =TT

. v HHATS T arEdigesr =EFoT

2
3. % hleYTeleh aogach'—é’r
4. % FRIeR FOT

Sub-Section Number: 3
Sub-Section 1d: 586180508
Question Shuffling Allowed : Yes

Question Id : 5861807517 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

STl T&d WU LTSN el Ugehd U8 T T[T dh Iqa Iy

Ig ML g Toh St Fiiged § €7 3r0er (9o @r gF Ageaqul a7 g o
Higed Bl AT & I TG AT UATE B gl Po UH 6T g ST A1iged
3IACIET P ST AGed & g [ €Y AT [T Y STrghar gr T51
JUSTa QT 39 T USTd gl UF & iiged # TARETRT $r ATt srerar
TUT 3THETh AT gl el 7 “UTET WINST qAT UTT iiged ¥ TUE &7 &
feraT T - “gITgcd P AgRT a1 i TS b Ty IR dcdl D €T
399 3[Ry & AT ATigql’ ATig 3 T Tliged q2T Pell & GGT H Tg
ATAETET STBDIT g1 P& o AT b Terrl Bl Wi P8 39 YehIE T AT 3,
STelih TS TG 3, ATFY 7 Fiiged § €Y 3R 3iAeieq” & JH=ad I TR

T 21 & &7 37K 3ideieq &I Pl Aged d gl

Sub questions

Question Number : 196 Question Id : 5861807518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TTRITST T JUYeh A g

Options:

1. v Giiged # €7 3R 3ida]
2. % Qliged § €

3. * Qiiged ¥ 3iddeq

4. » TOrRITCT

Question Number : 197 Question Id : 5861807519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 379 3

Options:

1. = qETd

2. % &I
3. v YT

4. = wgeaqur

Question Number : 198 Question Id : 5861807520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=R BT A gidT &

Options:

1. = AT
2. % 3IGATT
3. = 3igiay
4. v ¥

Question Number : 199 Question Id : 5861807521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T 37 2

Options:

1. = 3TeTIT

2. v ThEq
3. » GgIIh
4, % DA



Question Number : 200 Question Id : 5861807522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

WTag o Wiiged # Tl Aged T¢AT 37

Options:

1. v ®7 3R 3Aqaeq g dr
2. % ®U @

3. * 3AeE] P

4. % oIl @

Question Id : 5861807517 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

sirer Ta 910 TETET T Teoht IS I Wesll & 3ca} G’

g iead § & S gy & &7 3r2@m R¥Iew 1 &1 Agcaqol
Aleld § d HTiged T SToial & gT I@el T TAH Fd &l FO
0 o § S Afged A 3HAEEd R FIell AEed & & TR &
3720aT fRIeT hl 3IeThdl 8 6l JHASId JUdr 38 N gHSA
g1 U8 oler Aifged # TOORaRT shr @redfr arear Tuse sifeeafed
AEd &1 Aferer A Uil Torase dur Uil @ifger’ # Tuse w9 @
formr foF - ‘Oifacy &I Ta9grT gdt i1 Ul & T g dcd
* T H 398 AMAear & AT Arfgel’ ST & FF anfgcy qar
el & THIT A Ig HfAATEr TCCHIOT 1 FS o7 AFH H
ﬁﬂﬁraﬁaﬁ?a =H UehIL T ATl &, oldier s IS &,
AR o g A 9 AT 3AaE]’ F TAeag o0 ST feam &
T T 3N AGE] el T Aged & §l

Sub questions

Question Number : 196 Question Id : 5861807518 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ST hT IUYF <SR Elam:

Options:

1. v difged & &9 AT 37dde]
2. = Hifged H &9
3. » HAMfgcT # Haded
=
4. = TOaRaRT
Question Number : 197 Question Id : 5861807519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FoT BT AT E:

1. = Tl

2. = A
3. v AUl
4. = Hgcaqor

Question Number : 198 Question Id : 5861807520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HeaT T 3T arar &

Options:

1. = HHTA

2. = IGHATA
3. » 3TATare

4, v A

Question Number : 199 Question Id : 5861807521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ATl T T &:

Options:



B W=
®

Question Number : 200 Question Id : 5861807522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT o Oifecy & 59 Agca T &7

Options:

1. v 9 3 3{daEd alar ®i
. % BT FI

2
3. = 3-id51~{-§|3 )
4

. % oIl <hl



